Class 12 - | s
Chapter 1 mn
Relation

DHANPAT PUBLICATIONS

\E 1l I il Wi Author: R.D. Sharma |4 >

RD Sharma Solutions for Class
12 Maths Chapter 1—Relation

Class 12: Maths Chapter 1 solutions. Complete Class 12 Maths Chapter 1 Notes.

RD Sharma Solutions for Class 12 Maths Chapter
1-Relation

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions

Page No 1.10:

Question 1:

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g ‘AR 1A Gl Wi


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g'll 1% S GAl i

Let A be the set of all human beings in a town at a particular time. Determine whether
each of the following relations are reflexive, symmetric and transitive:

() R={(x, y) : xand y work at the same place}
(i) R={(x, y) : xand y live in the same locality}
(i) R={(x, y) : x is wife of y}

(iv) R ={(x, y) : x is father of and y}

ANSWER:

(i) Reflexivity:

Let x be an arbitrary element of R. Then,x€R =x and x work at the same place is true
since they are the same.=(x, x) €RSo, R is a reflexive relation.Let x be an arbitrary
element of R. Then,x€R =x and x work at the same place is true since they are the
same.=Xx, X€RSo, R is a reflexive relation.

Symmetry:

Let (x, yy€ER=x and y work at the same place =y and x work at the same place=(y,
X)E€RSo, R is a symmetric relation.Let x, yER=x and y work at the same place =y
and x work at the same place=y, x€RSo, R is a symmetric relation.

Transitivity:

Let (x, y)€R and (y, z)€R. Then,x and y work at the same place.y and z also work at
the same place.=x, y and z all work at the same place.=x and z work at the same
place.=(x, z)€RSo, R is a transitive relation.Let x, yER and y, z€R. Then,x and y
work at the same place.y and z also work at the same place.=x , y and z all work at the
same place.=x and z work at the same place.=x, zE€RSo, R is a transitive relation.

(i) Reflexivity:
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Let x be an arbitrary element of R. Then,x€R =x and x live in the same locality is true
since they are the same.So, R is a reflexive relation.Let x be an arbitrary element of R.
Then,x€R =x and x live in the same locality is true since they are the same.So, Ris a
reflexive relation.

Symmetry:

Let (x, y)€R=x and y live in the same locality=y and x live in the same locality=(y,
X)ER So, R is a symmetric relation.Let x, yER=x and y live in the same locality=y
and x live in the same locality=y, x€R So, R is a symmetric relation.

Transitivity:

Let (x, y)€R and (y, z)€R. Then,x and y live in the same locality and y and z live in the
same locality=x, y and z all live in the same locality=>x and z live in the same locality
=(X, z) €ERSo, R is a transitive relation.Let x, yER and y, z€R. Then,x and y live in the
same locality and y and z live in the same locality=x, y and z all live in the same
locality=x and z live in the same locality =x, z €RSo, R is a transitive relation.

(iii)
Reflexivity:
Let x be an element of R. Then,x is wife of x cannot be true.=(x, x)¥RSo, R is not a

reflexive relation.Let x be an element of R. Then,x is wife of x cannot be true.=x,
x4RSo, R is not a reflexive relation.

Symmetry:

Let (x, y)€ER=x is wife of y =x is female and y is male=y cannot be wife of x as y is
husband of x=(y, X)¢R So, R is not a symmetric relation.Let x, yER=x is wife of y =x
is female and y is male=y cannot be wife of x as y is husband of x=y, x¢R So, R is not
a symmetric relation.
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Transitivity:

Let (x, yY)ER, but (y, z)¥RSince x is wife of y, but y cannot be the wife of z, y is husband
of x.=Xx is not the wife of z=(x, z)€RSo, R is a transitive relation.Let x, yER, but y,
z¢RSince x is wife of y, but y cannot be the wife of z, y is husband of x.=x is not the
wife of z=x, z€RSo, R is a transitive relation.

(iv)
Reflexivity:

Let x be an arbitrary element of R. Then,x is father of x cannot be true since no one can
be father of himself.So, R is not a reflexive relation.Let x be an arbitrary element of R.
Then,x is father of x cannot be true since no one can be father of himself.So, R is not a
reflexive relation.

Symmetry:

Let (x, y)€R=x is father of y=y is son/daughter of x=(y, x)¢R So, R is not a symmetric
relation.Let x, yER=x is father of y=y is son/daughter of x=y, x¢éR So, R is not a
symmetric relation.

Transitivity:

Let (x, yY)€ER and (y, z)ER. Then, x is father of y and y is father of z=x is grandfather of
z=(x, z)4RSo, R is not a transitive relation.Let x, yER and y, z€R. Then, x is father of
y and y is father of z=x is grandfather of z=x, zéRSo, R is not a transitive relation.
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Question 2:
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Three relations R,, R, and R; are defined on a set A = {a, b, ¢} as follows:
Ri={(a, a), (a, b), (a, ¢), (b, b), (b, ¢), (c, a), (¢, b), (c, )}

R.={(a a)}

Rs ={(b, c)}

R4 = {(a, b)’ (b’ C)’ (C, a)}

Find whether or not each of the relations R;, R,, Rs, R, on A is (i) reflexive (ii) symmetric
and (iii) transitive.

ANSWER:

(i) Ry

Reflexive:

Clearly, (a, a), (b, b) and (c, c)€ €R;

So, R; is reflexive.

Symmetric:

We see that the ordered pairs obtained by interchanging the components of R, are also
in R,.

So, R, is symmetric.

Transitive:
Here,
(a, b)eR1, (b, c)eR1 and also (a, c)€R1a, bER1, b, cER1 and also a, cER1

So, R, is transitive.
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(i) R,
Reflexive: Clearly (a,a)€R2a,a€R2. So, R, is reflexive.
Symmetric: Clearly (a,a)€R=(a,a)€Ra,aeR=a,a€R. So, R, is symmetric.

Transitive: R, is clearly a transitive relation, since there is only one element in it.

(iii) R,

Reflexive:

Here,

(b, b)¢R3 neither (c, c)¢4R3b, b4¢R3 neither c, c¢R3

So, R; is not reflexive.

Symmetric:
Here,

(b, c)€R3, but (c,b)¥R3So0, R3 is not symmetric.b, cER3, but ¢,b¢R3So, R3 is not
symmetric.

Transitive:

Here, R; has only two elements. Hence, R; is transitive.

(iv) Ry

Reflexive:
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Here,

(a, a)¢R4, (b, b)¢ R4 (c, c)¢ R4So, R4 is not reflexive.a, a¢R4, b, bé¢ R4 ¢, c¢ R4So, R4
is not reflexive.

Symmetric:
Here,

(a, b)ERA4, but (b,a)¢R4.So0, R4 is not symmetric.a, bER4, but b,a¢R4.So, R4 is not
symmetric.

Transitive:
Here,

(a, b)eRA4, (b, c)ER4, but (a, c)4R4So, R4 is not transitive.a, bER4, b, cER4, but a,
c4R4So, R4 is not transitive.
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Question 3:

Test whether the following relations R;, R,, and R; are (i) reflexive (ii) symmetric and (iii)
transitive:

(i) R, on Q, defined by (a, b) € R, & a=1/b.

(i) R, on Zdefined by (a, b) € R, @ |a—b| <5

(ii) R;on R defined by (a, b) € R, & a?’—4ab + 3b*= 0.
ANSWER:

(i) Reflexivity:

Let a be an arbitrary element of R,. Then,
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a€eR1=a#1a for all a€Q0So, R1 is not reflexive.aER1=a#1a for all a€Q0So, R1 is
not reflexive.

Symmetry:

Let (a, bp) ER1€R1. Then,

(a, b)eR1=a=1b=b=1a=(b, a)€R1So, R1 is symmetric.a, bER1=a=1b=b=1a=Db,
a€R1So, R1 is symmetric.

Transitivity:
Here,

(a, b)eR1 and (b, c)€R2=a=1b and b=1c=a=11c=c=a#1c=(a, c)4R1 So, R1 is not
transitive.a, b€R1 and b, cER2=a=1b and b=1c=a=11c=c=>a#1c=a, c¢R1 So, R1 is
not transitive.

(ii)
Reflexivity:
Let a be an arbitrary element of R,. Then,

a€R2 =|a-a|=0<5S0, R1 is reflexive. = a€R2 =a-a=0<5So0, R1 is reflexive.

Symmetry:
Let (a, b)eR2=|a-b|<5=|b-a|<5 [Since, |a-b| = |b—a|]=(b, a)€R2So, R2 is
symmetric.Let a, bER2=a-b<5=b-a<5 Since, a-b = b-a=b, a€R2So, R2 is
symmetric.
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Transitivity:

Let (1, 3)€R2 and (3, 7)€R2=|1-3|<5 and |3-7|<5But [1-7|£5 =(1,7)¥R2So0, R2 is not
transitive.Let 1, 3€R2 and 3, 7€R2=1-3<5 and 3-7<5But 1-7<5 =1,7¢R2So0, R2 is not
transitive.

(iii)
Reflexivity: Let a be an arbitrary element of R;. Then,

aeR3=a2-4axa+3a2=0 So, R3 is reflexive. aE€R3=a2-4axa+3a2=0 So, R3 is reflexive.

Symmetry:

Let (a, b)€R3=a2-4ab+3b2=0But b2-4ba+3a2#0 for all a, b €RSo, R3 is not
symmetric.Let a, bER3=a2-4ab+3b2=0But b2-4ba+3a2#0 for all a, b €RSo, R3 is not
symmetric.

Transitivity:

(1, 2)€R3 and (2, 3)€R3=1-8+6=0 and 4-24+27=0But 1-12+9#0So0, R3 is not
transitive.1, 2€R3 and 2, 3€R3=1-8+6=0 and 4-24+27=0But 1-12+9#0So, R3 is not
transitive.
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Question 4:

LetA={1,2,3},and let R, = {(1, 1), (1, 3), (3, 1), (2, 2), (2, 1), (3, 3)}, R, = {(2, 2), (3, 1),
(1, 3)}, Rs ={(1, 3), (3, 3)}. Find whether or not each of the relations R;, R,, R; on Ais (i)
reflexive (ii) symmetric (iii) transitive.
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ANSWER:
(1R,
Reflexivity:
Here,

(1, 1), (2, 2), (3, 3)€RSo, R1 is reflexive.1, 1, 2, 2, 3, 3€RSo0, R1 is reflexive.

Symmetry:

Here,(2, 1)€R1, but (1, 2)4R1 So, R1 is not symmetric.Here,2, 1€R1, but 1, 2¢R1 So,
R1 is not symmetric.

Transitivity:

Here, (2, 1)€R1 and (1, 3)€R1, but (2, 3)¢R1So, R1 is not transitive.Here, 2, 1€R1
and 1, 3€R1, but 2, 3¢R1S0, R1 is not transitive.

(2)2 R,

Reflexivity:

Clearly, (1, 1) and (3, 3)4R2 So, R2 is not reflexive.Clearly, 1, 1 and 3, 3¢R2 So, R2 is
not reflexive.

Symmetry:

Here, (1, 3)€R2 and (3, 1)€R2So, R2 is symmetric.Here, 1, 3€R2 and 3, 1€R2So,
R2 is symmetric.
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Transitivity:

Here, (1, 3)€R2 and (3, 1)€R2 But (3, 3)¢R2So, R2 is not transitive.Here, 1, 3€R2
and 3, 1€R2 But 3, 3¢R2So, R2 is not transitive.

(3)3Rs
Reflexivity:

Clearly, (1, 1)¢R3 So, R3 is not reflexive.Clearly, 1, 1€R3 So, R3 is not reflexive.

Symmetry:

Here, (1, 3)€R3, but (3, 1)¢R3So0, R3 is not symmetric.Here, 1, 3€R3, but 3, 1¢R3So,
R3 is not symmetric.

Transitivity:

Here, (1, 3)€R3 and (3, 3)€R3 Also, (1, 3)€R3So, R3 is transitive.Here, 1, 3€R3 and
3, 3€R3 Also, 1, 3€R3S0, R3 is transitive.
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Question 5:

The following relations are defined on the set of real numbers.
(iyaRbifa—b>0

(i)aRbif1+ab>0

(iii) aRb if |a| < b

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

@II 1V WwCiil GG


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

@II 1 WGl GG

Find whether these relations are reflexive, symmetric or transitive.
ANSWER:
(i)

Reflexivity: Let a be an arbitrary element of R. Then,

a€RBut a—a = 0 *0So, this relation is not reflexive. a&RBut a-a =0 »0So, this
relation is not reflexive.

Symmetry:

Let (a, b)€R=a-b>0=-(b-a)>0=b-a<0So, the given relation is not symmetric.Let a,
beR=a-b>0=-(b-a)>0=b-a<0So, the given relation is not symmetric.

Transitivity:

Let (a, b)€R and (b, c)€R. Then,a-b>0 and b-c>0Adding the two, we
geta—-b+b-c>0=a-c>0 =>(a, c)ER. So, the given relation is transitive. Let a, bER and
b, ceR. Then,a-b>0 and b-c>0Adding the two, we geta-b+b-c>0=a-c>0 =a, cER. So,
the given relation is transitive.

(ii)

Reflexivity: Let a be an arbitrary element of R. Then,
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a€eR=>1+axa>0i.e. 1+a2>0 [Since, square of any number is positive]So, the

given relation is reflexive. a&R=1+axa>0i.e. 1+a2>0 Since, square of any
number is positiveSo, the given relation is reflexive.

Symmetry:

Let (a, b)eR=1+ab>0=1+ba>0=(b, a) €RSo, the given relation is symmetric. Let a,
beR=1+ab>0=1+ba>0=b, a€RSo, the given relation is symmetric.

Transitivity:

Let (a, b)eR and (b, c)€R=1+ab>0 and 1+bc>0But 1+ac*0=(a, c)¢RSo, the given
relation is not transitive. Let a, b€R and b, ceR=1+ab>0 and 1+bc>0But 1+ac*0=a,
c4RSo, the given relation is not transitive.

(iif)

Reflexivity: Let a be an arbitrary element of R. Then,

aER =|alfa [Since, |a]=a]So, R is not reflexive.  a€R =afa
Since, a=aSo, R is not reflexive.

Symmetry:

Let (a, b)eR=|a|<b = |b|<a for all a, bER=(b, a)¢R So, R is not symmetric. Let a,
beR=a<b = b<a for all a, bER=b, a€¢R So, R is not symmetric.
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Transitivity:

Let (a, b)€R and (b, c)€R=|a|<b and |b|<cMultiplying the corresponding sides, we get
|]a| |b|sbc=|a|<c=(a, c)€RThus, R is transitive. Let a, bER and b, cER=a<b and
b<cMultiplying the corresponding sides, we get a bsbc=asc=a, cERThus, Ris
transitive.
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Question 6:

Check whether the relation R defined onthe set A={1,2,3,4,5,6}as R={(a, b): b =
a + 1} is reflexive, symmetric or transitive.

ANSWER:

Reflexivity:

Letabeanarbitraryelementof R.Then,a=a+1 cannot be true for alla€A.=(a, a)¢R So, R
is not reflexive on A.Letabeanarbitraryelementof R.Then,a=a+1 cannot be true for all
a€A.=a, a¢R So, R is not reflexive on A.

Symmetry:

Let (a, b)€R=b=a+1=>-a=-b+1=a=b-1Thus, (b, a)¢RSo, R is not symmetric on A.Let
a, beR=b=a+1=-a=-b+1=a=b-1Thus, b, a¢RSo, R is not symmetric on A.

Transitivity:
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Let (1, 2) and (2, 3)€R=2=1+1 and 3 2+1 is true.But 3 # 1+1=(1, 3)¢RSo, R is not
transitive on A.Let 1, 2 and 2, 3€eR=2=1+1 and 3 2+1 is true.But 3 # 1+1=1, 3¢RSo,
R is not transitive on A.
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Question 7:

Check whether the relation R on R defined by R = {(a, b) : a < b%} is reflexive, symmetric
or transitive.

ANSWER:

Reflexivity:

Since 12>(12)3,(12, 12)¢RSo, R is not reflexive.Since 12>123,12, 12¢RSo, R is not
reflexive.

Symmetry:

Since (12, 2)€R,12<23But 2>(12)3=(2, 12)€RSo, R is not symmetric.Since 12,
2€R,12<23But 2>123=2, 12€RS0, R is not symmetric.

Transitivity:

Since (7, 3)€R and (3, 313)€R,7<33 and 3=(313)3But 7>(313)3=(7, 313)4RSo, R is
not transitive.Since 7, 3€R and 3, 313€R,7<33 and 3=3133But 7>3133=7, 313¢RSo,
R is not transitive.
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Question 8:

Prove that every identity relation on a set is reflexive, but the converse is not
necessarily true.

ANSWER:

Let A be a set. Then,

Identity relation IA=IA is reflexive, since (a, a)€ AV aldentity relation I1A=IA is reflexive,
since a, a€AVa

The converse of it need not be necessarily true.

Consider the set A ={1, 2, 3}

Here,

Relation R={(1, 1), (2, 2), (3, 3), (2, 1), (1, 3)} is reflexive on A.
However, R is not an identity relation.

Page No 1.11:

Question 9:

If A={1, 2, 3, 4} define relations on A which have properties of being
(i) reflexive, transitive but not symmetric

(i) symmetric but neither reflexive nor transitive

(iii) reflexive, symmetric and transitive.

ANSWER:

(i) The relation on A having properties of being reflexive, transitive, but not symmetric is
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R={(1,1),(2,2),(3,3).(4,4), (2 1)

Relation R satisfies reflexivity and transitivity.=(1, 1), (2, 2), (3, 3)€R and (1, 1), (2,
1)€R =(1, 1)€RHowever, (2, 1)ER, but (1, 2)§RRelation R satisfies reflexivity and
transitivity.=1,1,2,2,3,3€Rand 1, 1, 2, 1€R =1, 1€RHowever, 2, 1€ER, but 1, 2¢R

(ii) The relation on A having properties of being symmetric, but neither reflexive nor
transitive is

R={(1,2), (2, 1)}

The relation R on A is neither reflexive nor transitive, but symmetric.

(iii) The relation on A having properties of being symmetric, reflexive and transitive is
R={(1,1),(2,2),(3,3), (4,4),(1,2), (2, 1)}

The relation R is an equivalence relation on A.
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Question 10:

Let R be a relation defined on the set of natural numbers N as

R={(x,y):x,y € N, 2x + y =41}

Find the domain and range of R. Also, verify whether R is (i) reflexive, (ii) symmetric (iii)
transitive.

ANSWER:

Domain of R is the values of x and range of R is the values of y that together should
satisfy 2x+y = 41.
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So,
Domainof R={1, 2, 3,4, ..., 20}

Range of R={1, 3, 5, ..., 37, 39}

Reflexivity: Let x be an arbitrary element of R. Then,

XxER=2x+x=41 cannot be true.=(x, X)¢R So, R is not reflexive.x€ R=>2x+x=41 cannot
be true.=x, x¢R So, R is not reflexive.

Symmetry:

Let (x, y)ER. Then, 2x+y=41= 2y+x = 41 =(y, x)&RSo, R is not symmetric.Let x, yER.
Then, 2x+y=41= 2y+x = 41 =y, x¢RSo, R is not symmetric.

Transitivity:

Let (x, y) and (y, z) ER=>2x+y=41 and 2y +z=41=2x+z=2x+41-2y 41-y-2y=41-3y=>(x,
z)¢RThus, R is not transitive.Let x, y and y, z€ R=2x+y=41 and 2y
+7=41=2x+z=2x+41-2y 41-y-2y=41-3y=x, z¢RThus, R is not transitive.

Page No 1.11:
Question 11:

Is it true that every relation which is symmetric and transitive is also reflexive? Give
reasons.

ANSWER:

No, it is not true.

Consider a set A= {1, 2, 3} and relation Ron A such that R ={(1, 2), (2, 1), (2, 3), (1, 3)}
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The relation R on A is symmetric and transitive. However, it is not reflexive.

(1,1), (2, 2)and (3, 3)¢ R1, 1, 2, 2 and 3, 3¢ R

Hence, R is not reflexive.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 12:

An integer m is said to be related to another integer n if m is a multiple of n.Check if the
relation is symmetric, reflexive and transitive.

ANSWER:

R={(m, n) : m, n€Z, m=kn, where k€ N}Reflexivity:Let m be an arbitrary element of R.
Then,m=km is true for k=1=(m, m)€RThus, R is reflexive.Symmetry: Let (m,

n) € R=m=kn for some kEN—-n=1km=(n, m)¢R Thus, R is not symmetric.Transitivity:
Let (m, n) and (n, 0)€R=m=kn and n=lo for some k, | EN=m=(kl) oHere, KIER=(m,
0)E€RThus, R is transitive.R=m, n : m, n€Z, m=kn, where kENReflexivity:Let m be an
arbitrary element of R. Then,m=km is true for k=1=m, m&RThus, R is
reflexive.Symmetry: Let m, n€R=m=kn for some kEN—n=1km=n, md¢R Thus, R is
not symmetric.Transitivity: Let m, n and n, o€ R=m=kn and n=lo for some k, |
€N=m=(kl) oHere, kIER=m, 0€RThus, R is transitive.

Page No 1.11:
Question 13:

Show that the relation '=' on the set R of all real numbers is reflexive and transitive but
not symmetric.

ANSWER:

Let R be the set such that R ={(a, b) : a, bER; a2bER; a=b}
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Reflexivity:

Let a be an arbitrary element of R. ®a€R=a=a =a2a is true for a=a=(a, a)€R
Hence, R is reflexive.Let a be an arbitrary element of R. ®a&R=a=a =a=2a is true for
a=a=a, a€R Hence, R is reflexive.

Symmetry:

Let (a, b)€R=azb is same as b<a, but not b=aThus, (b, a)¢R Hence, R is not
symmetric.Let a, bER=az=b is same as b<a, but not b=aThus, b, a¢R Hence, R is not
symmetric.

Transitivity:

Let (a, b) and (b, c)€R=a=b and b=c=a=b=c=a=c=(a, c)€RHence, R is
transitive.Let a, b and b, cER=a=b and b=c=a=b=c=>a=c=>a, c€ERHence, R is
transitive.

Page No 1.11:

Question 14:

Give an example of a relation which is

(i) reflexive and symmetric but not transitive;

(ii) reflexive and transitive but not symmetric;

(iii) symmetric and transitive but not reflexive;
(iv) symmetric but neither reflexive nor transitive.
(v) transitive but neither reflexive nor symmetric.
ANSWER:

Suppose A be the set such that A ={1, 2, 3}
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(i) Let R be the relation on A such that
R={(1,1).(2,2),(,3).(1,2), (2 1), (2 3)}
Thus,

R is reflexive and symmetric, but not transitive.

(i) Let R be the relation on A such that
R={(1,1),(2,2), (3, 3),(1,2),(1,3), (2, 3)}

Clearly, the relation R on A is reflexive and transitive, but not symmetric.

(iii) Let R be the relation on A such that
R={(1,2),(2,1),(1,3), (3, 1), (2, 3)}

We see that the relation R on A is symmetric and transitive, but not reflexive.

(iv) Let R be the relation on A such that
R={(1,2),(2,1),(1,3), 3, 1)}

The relation R on A is symmetric, but neither reflexive nor transitive.

(v) Let R be the relation on A such that
R={(1,2),(2,3),(1,3)}
The relation R on A is transitive, but neither symmetric nor reflexive.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

@II 1 Wwdlil GG1h


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

@II 1 WGl GG

Page No 1.11:
Question 15:

Given the relation R = {(1, 2), (2, 3)} on the set A = {1, 2, 3}, add a minimum number of
ordered pairs so that the enlarged relation is symmeteric, transitive and reflexive.

ANSWER:

We have,

R={(1,2),(2,3)}

R can be a transitive only when the elements (1, 3) is added

R can be a reflexive only when the elements (1, 1), (2, 2), (3, 3) are added

R can be a symmetric only when the elements (2, 1), (3, 1) and (3, 2) are added

So, the required enlarged relation, R' ={(1, 1), (1, 2), (1, 3), (2, 1), (2, 2), (2, 3), (3, 1),
(3,2), (3,3} =AxxA

Page No 1.11:
Question 16:

LetA={1,2,3}and R={(1, 2), (1, 1), (2, 3)} be a relation on A. What minimum number
of ordered pairs may be added to R so that it may become a transitive relation on A.

ANSWER:

We have,
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A={1,2,3}and R={(1,2), (1, 1), (2, 3)}

To make R a transitive relation on A, (1, 3) must be added to it.

So, the minimum number of ordered pairs that may be added to R to make it a transitive
relation is 1.

Page No 1.11:
Question 17:

Let A ={a, b, c} and the relation R be defined on A as follows: R ={(a, a), (b, ¢), (a, b)}.
Then, write minimum number of ordered pairs to be added in R to make it reflexive and
transitive.

ANSWER:

We have,

A={a, b, ctand R={(a, a), (b, ), (a, b)}

R can be a reflexive relation only when elements (b, b) and (c, c) are added to it

R can be a transitive relation only when the element (a, c) is added to it

So, the minmum number of ordered pairs to be added in R is 3.
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Page No 1.11:
Question 18:

Each of the following defines a relation on N:

i)x>y,x,y €€ N
(i)x+y=10,x,y €€ N
(iii) xy is square of an integer, x, y €€ N

(ivyx+4y=10,x,y €€ N

Determine which of the above relations are reflexive, symmetric and transitive.
ANSWER:

(i) We have,

R={(xy):x>y,x,y €€ N}

As, x=x VXEN=(x,x)¢RSo, R is not a reflexive relationLet (x,y) €ER=>x>ybut
y<x=(y,X)¢RSo, R is not a symmeteric relationLet (x,y)ER and (y,z) €R=x>y and
y>z=>x>z=>(x,z) €ERSo0, R is a transitive relationAs, x=x VxEN=x,x¢RSo, R is not a
reflexive relationLet x,y € R=>x>ybut y<x=y,x¢RSo, R is not a symmeteric relationLet
x,YER and y,zER=x>y and y>z=x>z=X,zE€RSo0, R is a transitive relation

(i) We have,

R={(x,y):x+y=10,x,y €€ N}
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R={(1,9),(2,8),(3,7),(4,6),(5,5),(6,4),(7,3),(8,2),(9,1)}As, (1,1)¢RSo, R is not a reflexive
relationLet (x,y) €ER=x+y=10=y+x=10=(y,x) ERSo, R is a symmeteric relationAs,

(1,99 R and (9,1)€R but (1,1)¢RSo, R is not a transitive
relationR=1,9,2,8,3,7,4,6,5,5,6,4,7,3,8,2,9,1As, 1,1¢RSo, R is not a reflexive relationLet
X,y ER=x+y=10=y+x=10=y,xERS0, R is a symmeteric relationAs, 1,9€R and 9,1€R
but 1,1¢RSo, R is not a transitive relation

(iii) We have,

R ={(x, y) : xy is square of an integer, x, y € € N}

As, xxx=x2, which is a square of an integer x=>(x,x) €ERSo, R is a reflexive relationLet
(x,y)ER=xy is square of an integer=yx is also a square of an integer=(y,x) €RSo, R
is a symmeteric relationLet (x,y)€R and (y,z) €R=xy is square of an integer and yz is
also a square of an interger=>xz must be a square of an integer=>(x,z)€RSo, R is a
transitive relationAs, xxx=x2, which is a square of an integer x=x,x€RSo, R is a
reflexive relationLet x,y €ER=Xxy is square of an integer=>yx is also a square of an
integer=y,x€ RS0, R is a symmeteric relationLet x,y €R and y,z&€R=xy is square of an
integer and yz is also a square of an interger=>xz must be a square of an
integer=x,z€RSo0, R is a transitive relation

(iv) We have,

R={(x,y):x+4y=10,x,y €€ N}

R={(2,4),(6,1)}As, (2,2)¢RSo, R is not a reflexive relationAs, (2,4)ER but (4,2)¢RSo, R
is not a symmeteric relationAs, (2, 4)€R but 4 is not related to any natural numberSo, R

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g’ll Il Al S i


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g'll 1%l w/GAl S i

is a transitive relationR=2,4,6,1As, 2,2¢RSo, R is not a reflexive relationAs, 2,4 €R but
4,24¢RSo, R is not a symmeteric relationAs, 2, 4 €R but 4 is not related to any natural
numberSo, R is a transitive relation
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Question 1:

Show that the relation R defined by R = {(a, b) : a— b is divisible by 3; a, b € Z} is an
equivalence relation.

ANSWER:

We observe the following relations of relation R.

Reflexivity:

Let a be an arbitrary element of R. Then,a—a=0=0 x 3=>a-a is divisible by 3=>(a, a)€R
for allaeZSo, R is reflexive on Z. Let a be an arbitrary element of R. Then,a-a=0=0 x
3=a-a is divisible by 3=a, a€R for all a€ZSo, R is reflexive on Z.

Symmetry:

Let (a, b)R=a-b is divisible by 3=>a-b 3p for some pEZ=b-a=3 (-p) Here,
-pEZ=b-a is divisible by 3= (b, a)ER for all a, bEZSo, R is symmetric on Z.Let a,
b&eR=a-b is divisible by 3=a-b 3p for some pEZ=b-a=3 -p Here, -pEZ=b-a is
divisible by 3=b, a€R for all a, b€ZSo, R is symmetric on Z.

Transitivity:

Let (a, b) and (b, c)€R=a-b and b-c are divisible by 3=a-b=3p for some pEZand
b-c=3q for some g€ ZAdding the above two, we get a-b+b—-c=3p+3q=>a-c=3
(p+q)Here, p+tqEeZ=a-c is divisible by 3=(a, c)ER for all a, c €ZSo, R is transitive on
Z.leta, band b, ceR=a-b and b-c are divisible by 3=a-b=3p for some p&Zand
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b-c=3q for some q&€ZAdding the above two, we get  a-b+b-c=3p+3g=a-c=3 p+qgHere,
ptqE€Z=a-c is divisible by 3=a, cER for all a, c €ZSo, R is transitive on Z.

Hence, R is an equivalence relation on Z.

Page No 1.26:

Question 2:

Show that the relation R on the set Z of integers, given by
R ={(a, b) : 2 divides a — b}, is an equivalence relation.
ANSWER:

We observe the following properties of relation R.

Reflexivity:

Let a be an arbitrary element of the set Z. Then,aeR=a-a=0=0 x 2=2 divides
a—a=(a, a)ER for all a€ZSo, R is reflexive on Z.Let a be an arbitrary element of the
set Z. Then,aeR=a-a=0=0 x 2=2 divides a-a=>a, a€R for all a€ZSo, R is reflexive
onZ.

Symmetry:

Let (a, b)€R=2 divides a—b=a—-b2=p for some pEZ=b-a2=-p Here, -pEZ=2
divides b—a=(b, a)eR for all a, b €ZSo0, R is symmetric on Z.Let a, bER=2 divides
a-b=a-b2=p for some pEZ=b-a2=-p Here, -pEZ=2 divides b-a=b, aeR for all a, b
€Z7S0, R is symmetric on Z.

Transitivity:
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Let (a, b) and (b, c)€R=2 divides a—b and 2 divides b—c=a-b2=p and b-c2=q for
some p, € ZAdding the above two, we geta-b2+b-c2=p+q=a-c2=p+q Here,
ptqE€Z=2 divides a-c=>(a, c)ER for all a, c €ZSo0, R is transitive on Z.Let a, b and b,
cER=2 divides a-b and 2 divides b-c=a-b2=p and b-c2=q for some p, q€ZAdding the
above two, we geta-b2+b-c2=p+g=a-c2=p+q Here, p+tq€Z=2 divides a-c=a,
ceRforall a, c €ZSo, R is transitive on Z.

Hence, R is an equivalence relation on Z.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 3:

Prove that the relation R on Z defined by

(a, b) € R & a - bis divisible by 5

is an equivalence relation on Z.

ANSWER:

We observe the following properties of relation R.

Reflexivity:

Let a be an arbitrary element of R. Then,=a-a =0 = 0 x 5=a-a is divisible by 5=(a,
a)ER for all aeZSo, R is reflexive on Z.Let a be an arbitrary element of R. Then,=a-a
=0 =0 x 5=a-a is divisible by 5=a, a€R for all a€ZSo, R is reflexive on Z.

Symmetry:

Let (a, b)eR=a-b is divisible by 5=a-b = 5p for some pEZ=b-a =5 (-p) Here,
-pEZ [Since peZ]=b-a is divisible by 5=(b, a)ER for all a, bEZSo, R is
symmetric on Z.Let a, bER=a-b is divisible by 5=a-b = 5p for some pEZ=b-a=5 -p
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Here, -p€Z [Since peZ]=b-a is divisible by 5=b, aER for all a, bEZSo,
R is symmetric on Z.

Transitivity:

Let (a, b) and (b, c)€R=a-b is divisible by 5=a-b = 5p for some ZAlso, b—c is divisible
by 5=b-c = 5q for some ZAdding the above two, we geta—b+b-c = 5p+5q=a-c =5
(p+q)=a-c is divisible by SHere, p+tq€Z=(a, c)ER for all a, cEZSo, R is transitive on
Z.Leta, band b, ceR=a-b is divisible by 5=a-b = 5p for some ZAlso, b-c is divisible
by 5=b-c = 5q for some ZAdding the above two, we geta-b+b-c = 5p+5q=>a-c =5
(p+q)=a-c is divisible by 5Here, ptq€Z=a, ceR for all a, cEZSo, R is transitive on Z.

Hence, R is an equivalence relation on Z.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 4:

Let n be a fixed positive integer. Define a relation R on Z as follows:

(a, b) € R & a - bis divisible by n.

Show that R is an equivalence relation on Z.

ANSWER:

We observe the following properties of R. Then,

Reflexivity:

Let aeNHere,a—a=0=0 x n=a-a is divisible by n=(a, a)€R=(a, a)ER for all a€ZSo,
R is reflexive on Z.Let aENHere,a-a=0=0 x n=>a-a is divisible by n=>a, aeR=a, a€R
for all aeZSo, R is reflexive on Z.
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Symmetry:

Let (a, b)€RHere,a-b is divisible by n=>a-b=np for some pEZ=b-a=n (-p)=b-a is
divisible by n [pEZ=-pEZ]=(b, a)ER So, R is symmetric on Z.Let a,
b&RHere,a-b is divisible by n=a-b=np for some pEZ=b-a=n -p=b-a is divisible by n
[pEZ=-pEZ]=b, aER So, R is symmetric on Z.

Transitivity:

Let (a, b) and (b, c)€RHere, a-b is divisible by n and b-c is divisible by n.=a-b=np for
some p €Zand b—-c=nq for some q&€ ZAdding the above two, we
geta—-b+b-c=np+nqg=a-c=n (p+q)Here, ptq€Z=(a, c)€R for all a, cEZSo, R is
transitive on Z.Let a, b and b, c€ERHere, a-b is divisible by n and b-c is divisible by
n.=>a-b=np for some p €Zand b-c=nq for some q€ZAdding the above two, we
geta-b+b-c=np+ngq=a-c=n (p+q)Here, p+tqE€Z=a, cER for all a, cEZSo, R is transitive
onZ.

Hence, R is an equivalence relation on Z.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 5:

Let Z be the set of integers. Show that the relation

R={(a,b):a,b € Zand a + b is even}

is an equivalence relation on Z.

ANSWER:

We observe the following properties of R.

Reflexivity:
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Let a be an arbitrary element of Z. Then, a&RClearly, a+a=2a is even for all
a€eZ.=(a, a)ER for allaeZSo, R is reflexive on Z.Let a be an arbitrary element of Z.
Then, a&€RClearly, ata=2ais even for allaeZ.=a, aER for allaeZSo, R is
reflexive on Z.

Symmetry:

Let (a, b)eR=a+b is even=b+a is even=(b, a)ER for all a, bEZSo0, R is symmetric
on Z.Let a, beR=a+b is even=b+a is even=b, a€R for all a, bEZSo, R is symmetric
on Z.

Transitivity:

Let (a, b) and (b, c)€R=a+b and b+c are evenNow, let a+b=2x for some x€Zand
b+c=2y for some yE€ZAdding the above two, we get a+2b+c=2x+2y=a+c=2(x+y-b),
which is even for all x, y, bE€ZThus, (a, c)€RSo, R is transitive on Z.Let a, b and b,
cER=a+b and b+c are evenNow, let a+b=2x for some x&€Zand b+c=2y for some
yE€ZAdding the above two, we get  a+2b+c=2x+2y=a+c=2(x+y-b), which is even for
all x, y, bEZThus, a, c€RSo, R is transitive on Z.

Hence, R is an equivalence relation on Z.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
Page No 1.26:

Question 6:

m is said to be related to n if m and n are integers and m — n is divisible by 13. Does this
define an equivalence relation?

ANSWER:

We observe the following properties of relation R.
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Let R={(m, n): m, n€Z: m-n is divisible by 13}Relexivity: Let m be an arbitrary
element of Z. Thenm&R=>m-m=0=0 x 13=m-m is divisible by 13=(m, m) is reflexive
on Z.Symmetry: Let (m, n)€R. Then,m-n is divisible by 13=m-n=13pHere,
pEZ=n-m=13 (-p) Here, -pEZ=>n-m is divisible by 13=(n, m)ER for all m, n€ZSo,
R is symmetric on Z.Transitivity: Let (m, n) and (n, 0)€R=m-n and n-o are divisible by
13=m-n=13p and n-0=13q for some p, € ZAdding the above two, we get
m-n+n-0=13p+13q=m-0=13 (p+q)Here, p+tqE€Z=m-o is divisible by 13=(m, 0)ER
for all m, 0€ZSo, R is transitive on Z.Let R={m, n: m, n€Z : m-n is divisible by
13}Relexivity: Let m be an arbitrary element of Z. Then,m&R=>m-m=0=0 x 13=>m-m is
divisible by 13=m, m is reflexive on Z.Symmetry: Let m, n€R. Then,m-n is divisible by
13=m-n=13pHere, p€Z=n-m=13 -p Here, -pEZ=n-m is divisible by 13=n, m&R for
all m, n€ZSo, R is symmetric on Z.Transitivity: Let m, n and n, o€R=m-n and n-o are
divisible by 13=m-n=13p and n-0=13q for some p, g€ ZAdding the above two, we get
m-n+n-0=13p+13q=m-0=13 p+qHere, p+qEZ=m-o is divisible by 13=m, o€R for all
m, 0EZSo, R is transitive on Z.

Hence, R is an equivalence relation on Z.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
Page No 1.26:

Question 7:

Let R be a relation on the set A of ordered pair of integers defined by (x, y) R (u, v) if xv
= yu. Show that R is an equivalence relation.

ANSWER:

We observe the following properties of R.

Reflexivity: Let (a, b) be an arbitrary element of the set A. Then, (a, b)€ A=ab=ba
=(a, b) R (a, b)Thus, R is reflexive on A.Symmetry: Let (x, y) and (u, v) €A such that (x,
y) R (u, v). Then, xv=yu=vx=uy=uy=vx=(u, v) R (X, y)So, R is symmetric on
A.Transitivity: Let (X, y), (u, v) and (p, Q) €R such that (x, y) R (u, v) and (u, v) R (p,
q).=xv=yu and ug=vpMultiplying the corresponding sides, we getxv x ug=yu x
vp=>xg=yp=(X, ¥) R (p, q)So, R is transitive on A.Reflexivity: Let a, b be an arbitrary
https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/
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element of the set A. Then, a, bEA=ab=ba =a, b R a, bThus, R is reflexive on
A.Symmetry: Let x, y and u, vEA such that x, y R u, v. Then,
XV=yu=VXx=uy=>uy=vx=Uu, v R x, ySo, R is symmetric on A.Transitivity: Letx, y, u, v
and p, g€R such that x, y Ru, vand u, v R p, g.=xv=yu and ug=vpMultiplying the
corresponding sides, we getxv x ug=yu x vp=xq=yp=>X, Y R p, qSo, R is transitive on
A.

Hence, R is an equivalence relation on A.
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Question 8:

Show that the relation Ronthe setA={x € Z;0<x<12}, givenby R={(a, b) : a = b},
is an equivalence relation. Find the set of all elements related to 1.

ANSWER:

We observe the following properties of R.

Reflexivity: Let a be an arbitrary element of A. Then,

aER=a=a [Since, every element is equal to itself]|=(a, a)ER for all a€ASo, R
is reflexive on A.Symmetry: Let (a, b) ER=a b=>b=a=(b, a)ER for all a, bEASo, R is
symmetric on A.Transitivity: Let (a, b) and (b, c)€R=>a=b and b=c=a=b c=a=c=(a,
Cc)E€RSo, R is transitive on A.aER=a=a Since, every element is equal to
itself=a, a€R for all a€ASo, R is reflexive on A.Symmetry: Let a, b ER=a
b=b=a=b, aeR for all a, b€ASo0, R is symmetric on A.Transitivity: Let a, b and b,
ceR=a=b and b=c=a=b c=>a=c=a, cERSo, R is transitive on A.

Hence, R is an equivalence relation on A.
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The set of all elements related to 1 is {1}.
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Question 9:

Let L be the set of all lines in XY-plane and R be the relation in L defined as R = {L,, L,)
: L, is parallel to L,}. Show that R is an equivalence relation. Find the set of all lines
related to the line y = 2x + 4.

ANSWER:

We observe the following properties of R.

Reflexivity: Let L1 be an arbitrary element of the set L. Then,L1€L=L1 is parallel to L1
[Every line is parallel to itself]=(L1, L1)ER for all L1 €LSo, R is reflexive on
L.Symmetry: Let (L1, L2)€R=L1 is parallel to L2=L2 is parallel to L1=(L2, L1)ER
for all L1 and L2€LSo, R is symmetric on L.Transitivity: Let (L1, L2) and (L2,
L3)eR=L1 is parallelto L2 and L2 is parallel to L3=L1, L2 and L3 are all parallel to
each other=L1 is parallel to L3=(L1, L3)E€RSo, R is transitive on L.Reflexivity: Let L1
be an arbitrary element of the set L. Then,L1€L=L1 is parallel to L1 Every line
is parallel to itself=L1, L1€R for all L1 €LSo, R is reflexive on L.Symmetry: Let L1,
L2eR=L1 is parallel to L2=L2 is parallel to L1=L2, L1€R for all L1 and L2ZELSo, R
is symmetric on L.Transitivity: Let L1, L2 and L2, L3ER=L1 is parallelto L2 and L2 is
parallel to L3=L1, L2 and L3 are all parallel to each other=L1 is parallel to L3=L1,
L3€RSo, R is transitive on L.

Hence, R is an equivalence relation on L.

Set of all the lines related to y = 2x+4

=L"={(x, y) : y = 2x+c, where cE€ €R}
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Question 10:

Show that the relation R, defined on the set A of all polygons as

R ={(P,, P,) : P, and P, have same number of sides},

is an equivalence relation. What is the set of all elements in A related to the right angle
triangle T with sides 3, 4 and 57

ANSWER:

We observe the following properties on R.

Reflexivity: Let P1 be an arbitrary element of A.Then, polygon P1 and P1 have the
same number of sides, since they are one and the same.=(P1, P1)€R for all P1€ASo,
R is reflexive on A.Symmetry: Let (P1, P2)€R=P1 and P2 have the same number of
sides.=P2 and P1 have the same number of sides.= (P2, P1)ER for all P1, P2€ASo,
R is symmetric on A.Transitivity: Let (P1, P2), (P2, P3)€R=P1 and P2 have the same
number of sides and P2 and P3 have the same number of sides.=P1, P2 and P3 have
the same number of sides.=P1 and P3 have the same number of sides.=(P1, P3)ER
for all P1, P3 ASo, R is transitive on A.Reflexivity: Let P1 be an arbitrary element of
A.Then, polygon P1 and P1 have the same number of sides, since they are one and the
same.=P1, P1€R for all P1€ASo, R is reflexive on A.Symmetry: Let P1, P2ER=P1
and P2 have the same number of sides.=P2 and P1 have the same number of
sides.=P2, P1€R for all P1, P2€ASo, R is symmetric on A.Transitivity: Let P1, P2, P2,
P3€R=P1 and P2 have the same number of sides and P2 and P3 have the same
number of sides.=P1, P2 and P3 have the same number of sides.=P1 and P3 have
the same number of sides.=P1, P3€R for all P1, P3 ASo, R is transitive on A.

Hence, R is an equivalence relation on the set A.
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Also, the set of all the triangles € €A is related to the right angle triangle T with the
sides 3, 4, 5.
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Question 11:

Let O be the origin. We define a relation between two points P and Q in a plane if OP =
OQ. Show that the relation, so defined is an equivalence relation.

ANSWER:

Let A be the set of all points in a plane such that

A={P : P is a point in the plane}Let R be the relation such that R={(P, Q) : P, Q€A and
OP=0Q, where O is the origin}A={P : P is a point in the plane}Let R be the relation such
that R=P, Q : P, Q€A and OP=0Q, where O is the origin

We observe the following properties of R.

Reflexivity: Let P be an arbitrary element of R.
The distance of a point P will remain the same from the origin.
So, OP = OP

=(P, P)€RSo, R is reflexive on A.Symmetry: Let (P, Q) €R=0P=0Q=0Q=0P=(Q,
P)ERSo, R is symmetric on A.Transitivity: Let (P, Q), (Q, R)€R=0P=0Q and
0Q=0R=0P=0Q=0R=0P=0R=(P, R)€RSo, R is transitive on A.=P, PERSo, R is
reflexive on A.Symmetry: Let P, Q€ R=>0P=0Q=0Q=0P=Q, PERSo, R is symmetric
on A.Transitivity: Let P, Q, Q, RER=0P=0Q and OQ=0R=0P=0Q=0R=0P=0R=P,
ReRSo, R is transitive on A.
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Hence, R is an equivalence relation on A.
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Question 12:

Let R be the relation defined on the set A={1, 2, 3,4, 5,6, 7} by R ={(a, b) : both a and
b are either odd or even}. Show that R is an equivalence relation. Further, show that all
the elements of the subset {1, 3, 5, 7} are related to each other and all the elements of
the subset {2, 4, 6} are related to each other, but no element of the subset {1, 3, 5, 7} is
related to any element of the subset {2, 4, 6}.

ANSWER:

We observe the following properties of R.
Reflexivity:

Let a be an arbitrary element of R. Then,a€R=(a, a)ER for all aEASo, R is reflexive
on A.Symmetry: Let (a, b)€R=Both a and b are either even or odd.=Both b and a are
either even or odd.=(b, a)ER for all a, bEASo, R is symmetric on A.Transitivity: Let (a,
b) and (b, c)€R=Both a and b are either even or odd and both b and c are either even
or odd.=a, b and c are either even or odd.=a and c both are either even or odd.=(a, c)
€R for all a, c€ASo, R is transitive on A.Let a be an arbitrary element of R.
Then,aeR=a, aER for all aEASo, R is reflexive on A.Symmetry: Let a, bER=Both a
and b are either even or odd.=Both b and a are either even or odd.=b, a€R for all a,
b&eASo, R is symmetric on A.Transitivity: Let a, b and b, cER=Both a and b are either
even or odd and both b and c are either even or odd.=a, b and c are either even or
odd.=a and c both are either even or odd.=a, ¢ €R for all a, cEASo, R is transitive on
A.

Thus, R is an equivalence relation on A.
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We observe that all the elements of the subset {1, 3, 5, 7} are odd. Thus, they are
related to each other.

This is because the relation R on A is an equivalence relation.

Similarly, the elements of the subset {2, 4, 6} are even. Thus, they are related to each
other because every element is even.

Hence proved.
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Question 13:

Let S be a relation on the set R of all real numbers defined by
S={a,b)eE RxR:a*+b*=1}

Prove that S is not an equivalence relation on R.

ANSWER:

We observe the following properties of S.

Reflexivity:Let a be an arbitrary element of R. Then, a&€R=a2+a2#1VvVa&EeR=(a,
a)¢SSo, S is not reflexive on R.Symmetry: Let (a, b)€ER=a2+b2=1=b2+a2=1=(b,
a)€S for all a, bERSo0, S is symmetric on R.Transitivity: Let (a, b) and (b,
c)ES=a2+b2=1 and b2+c2=1Adding the above two, we geta2+c2=2-2b2#1 for all a, b,
CERSo, S is not transitive on R.Reflexivity:Let a be an arbitrary element of R. Then,
aER=a2+a2#1VaEeR=a, a¢SSo, S is not reflexive on R.Symmetry: Let a,
beR=a2+b2=1=b2+a2=1=b, a€S for all a, bERSo0, S is symmetric on R.Transitivity:
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Let a, b and b, cES=a2+b2=1 and b2+c2=1Adding the above two, we
geta2+c2=2-2b2#1 for all a, b, cERSo, S is not transitive on R.

Hence, S is not an equivalence relation on R.
Page No 1.27:
Question 14:

Let Z be the set of all integers and Z, be the set of all non-zero integers. Let a relation R
on Z x Z, be defined as

(a, b) R (c, d) & ad = bc for all (a, b), (c, d) € Z x Z,
Prove that R is an equivalence relation on Z x Z,,.
ANSWER:

We observe the following properties of R.

Reflexivity:

Let (a, b) be an arbitrary element of Z x Z0. Then,(a, b)€Z x Z0=a, bEZ,
Z0=ab=ba=(a, b)ER for all (a, b)€Z x Z0So, R is reflexive on Z x Z0.Let a, b be an
arbitrary element of Z x Z0. Then,a, b€Z x Z0=a, beZ, Z0=ab=ba=a, bER for all a,
beZ x Z0So, R is reflexive on Z x Z0.

Symmetry:

Let (a, b), (c, d)€2ZxZ0 such that (a, b) R (c, d). Then,(a, b) R (c,
d)=ad=bc=cb=da=(c, d) R (a, b)Thus, (a, b) R (¢, d)=(c, d) R (a, b) for all (a, b), (c,
d)€ZxZ0So, R is symmetric on ZxZ0.Let a, b, ¢, d€ZxZ0 such that a, b R ¢, d. Then,a,
b R ¢, d=>ad=bc=>cb=da=c, d R a, bThus, a, bR ¢, d=c, d R a, b for all a, b, c,
d€eZxZ0So, R is symmetric on ZxZ0.

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g ‘AR 1A Gl Wi


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g'll 1'%l Gl S i

Transitivity:

Let (a, b), (c, d), (e, )€NxNO such that (a, b) R (¢, d) and (¢, d ) R (e, f). Then,(a, b) R
(c, d)=ad=bc(c, d) R (e, f)=cf=de}=(ad) (cf)=(bc) (de)=af=be=(a, b) R (e, f)Thus, (a,
b) R (c,d)and (c,d )R (e, f)=(a, b) R (e, f)=(a, b) R (e, f) for all values (a, b), (c, d), (e,
f)eNxNOSo, R is transitive on NxNO.Let a, b, c, d, e, fENxNO such thata, b R ¢, d and
c,d Re, f. Then,a, b R ¢, d=ad=bcc, d R e, f=cf=de=ad cf=bc de=af=be=a,b R e,
fThus,a,bRc,dandc,d Re,f=a,bRe, f=a, bRe, fforall values a, b, ¢, d, e,
fENxNOSo, R is transitive on NxNO.
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Question 15:

If R and S are relations on a set A, then prove that

(i) Rand S are symmetric = RN Sand R U S are symmetric

(i) R is reflexive and S is any relation = R U S is reflexive.

ANSWER:

(i) R and S are symmetric relations on the set A.

=>RCAxA and SCAxA=RNSCAxAThus, RNS is a relation on A.Let a, bEA such that
(a, b)eRNS. Then,(a, b)RNS=(a, b)€R and (a, b)€S=(b, a)€R and (b, a)€S
[Since R and S are symmetric]=(b, a)€RNSThus, (a, b)€RNS=(b, a)€RNS for all a,
beASo, RNS is symmetric on A.=RCAxA and SCAxA=RNSCAxAThus, RNS is a
relation on A.Let a, bEA such that a, bERNS. Then,a, bERNS=a, bER and a,
beS=b,aeRandb,aES Since R and S are symmetric=b, a€RNSThus,
a, beRNS=b, aeRNS for all a, b€ ASo, RNS is symmetric on A.

Also,

Let a, bEA such that (a, b)€ERUS=(a, b)€ER or (a, b)€S=(b, a)€R or (b, a)ES
[Since R and S are symmetric]=(b, a)€RUSSo, RUS is symmetricon A.Let a, bEA
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such thata, bERUS=a,bERora, bES=b,a€Rorb,aES Since Rand S
are symmetric=b, a€RUSSo, RUS is symmetric on A.

(i) R is reflexive and S is any relation.

Suppose a€A. Then, (a,a)ER [Since R is reflexive]=(a,
a)€ERUS=RUS is reflexive on A.Suppose a€A. Then, a,a€R
Since R is reflexive=a, a€RUS=RUS is reflexive on A.

Page No 1.27:
Question 16:

If R and S are transitive relations on a set A, then prove that R U S may not be a
transitive relation on A.

ANSWER:

Let A={a, b, c} and R and S be two relations on A, given by

R ={(a, a), (a, b), (b, a), (b, b)} and

S={(b, b), (b, ¢), (¢, b), (c, c)}

Here, the relations R and S are transitive on A.

(a,b)eRUS and (b, c)€RUSBut (a, c)fRUS a, bERUS and b, cRUSBut a,
céRUS

Hence, RU U S is not a transitive relation on A.
RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 17:

Let C be the set of all complex numbers and C, be the set of all no-zero complex
numbers. Let a relation R on C,be defined as

z1z1 Rz2 & z1-z2z1+z2z2 & z1-z2z1+z2 is real for all
z1,z2 €z1, z2 €C,.

Show that R is an equivalence relation.

ANSWER:

(i) Test for reflexivity:

Since, z1-z1z1+z1=0z1-z1z1+z1=0, which is a real number.
So, (z1,z1)€ERz1,z1€R

Hence, R is relexive relation.

(i) Test for symmetric:

Let (z1, zZ2)€Rz1, z2€R.

Then, z1-z2z1+z2=xz1-z2z1+z2=x, where x is real
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=-(z1-z2z1+z2)=—-x=(z2-z1z2+z1)=-X, is also a real
number=-z1-z2z1+z2=-x=>z2-z1z2+z1=-X, is also a real number

So, (z2, z1)ERz2, z1€R

Hence, R is symmetric relation.

(iii) Test for transivity:

Let (z1, z2)eR and (z2, z3)€Rz1, z2€R and z2, z3ER.

Then,

z1-z2z1+z2=x, where x is a real
number.=z1-z2=xz1+xz2=z1-xz1=z22+xz2=z1(1-x)=z2(1+x)=>z1z2=(1+x)(1-x)
...(1)21-z2z1+z2=x, where x is a real
number.=z1-z2=xz1+xz2=2z1-xz1=z2+xz2=z11-x=221+x=>21z2=1+x1-Xx .

Also,

z2-73z2+z3=y, where y is a real
number.=z2-z3=yz2+Yz3=z2-yz2=z3+yz3=2z2(1-y)=z3(1+y)=>z2z3=(1+y)(1-y)
...(2)z2-2322+z3=y, where y is a real
number.=z2-z3=yz2+Yz3=2z2-yz2=2z3+yz3=221-y=z31+y=22z3=1+y1-y 2
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Dividing (1) and (2), we get

z1z3=(1+x1-x)x(1-y1+y)=z, where z is a real number.=z1-z3z1+z3=z-1z+1, which is
real=(z1, z3)€Rz1z3=1+x1-xx1-y1+y=z, where z is a real
number.=z1-z3z1+z3=z-1z+1, which is real=z1, zZ3€R

Hence, R is transitive relation.

From (i), (ii), and (iii),

R is an equivalenve relation.
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Question 1:

Let R be a relation on the set N given by
R={(a,b):a=b-2,b>6}. Then,
(@)(2,4) € R

(b)(3,8) € R

(c)(6.8) ER

d) @8, 7) R

ANSWER:

(c)(6,8) € R
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(6, 8)€R Then, a=b-2=6=8-2and b=8 > 6Hence, (6, 8)€R6, 8 ER Then,
a=b-2=>6=8-2and b=8 > 6Hence, 6, 8€R

Page No 1.29:

Question 2:

If a relation R is defined on the set Z of integers as follows:
(a, b) € R & a? + b?> = 25. Then, domain (R) is

(a) {3, 4, 5}

(b) {0, 3, 4, 5}

(c){0,+£3,+4,+5}

(d) none of these

ANSWER:

(c) {0, £ 3, + 4, £ 5}

R={(a, b) : a2+b2=25, a, beZ}=>ae{-5, -4, -3, -2, -1, 0, 1, 2, 3, 4, 5} and
be{-5, -4, -3,-2,-1,0,1,2,3,4,5) R=a,b:a2+b2=25, a, bezZ=ae-5, -4, -3, -2,
1,0,1,2,3,4,5and be-5-4,-3,-2,-1,0,1,2,3,4,5

So, domain (R)={0, + 3,+ 4, £5}So, domain (R)=0, + 3,+ 4, +5

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 3:

R is a relation on the set Z of integers and it is given by
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x,y)€ERe |x-y|<1.Then, Ris
(a) reflexive and transitive

(b) reflexive and symmetric

(c) symmetric and transitive

(d) an equivalence relation
ANSWER:

(b) reflexive and symmetric

Reflexivity: Let x€R. Then,x—x=0 < 1=|x—x|<1=(x, X)ER for all x€ZSo, R is reflexive
on Z.Symmetry: Let (x, y)€R. Then,|x-y| £ 0=|-(y-x)| £ 1=|y—x| £ 1 [Since
Ix=y|=ly—x|]1=(y, x)€ER for all x, yEZSo0, R is symmetric on Z.Transitivity: Let (x, y)ER
and (y, z)€R. Then,|x-y| £ 1 and |y-z| £ 1=It is not always true that |x-y| < 1.=(X,
2)4RSo, R is not transitive on Z.Reflexivity: Let x€R. Then,x-x=0 < 1=x-x<1=x, XER
for all x€ZSo, R is reflexive on Z.Symmetry: Let x, yER. Then,x-y £ 0=-(y-x) £ 1=y-x
<1 Since x-y=y-x=y, x&€R for all x, y€ZSo0, R is symmetric on Z.Transitivity: Let
X, YER andy, z€R. Then,x-y < 1 and y-z < 1=t is not always true that x-y < 1.=x,
z¢RSo, R is not transitive on Z.

Page No 1.30:

Question 4:

The relation R defined on the set A = {1, 2, 3, 4, 5} by
R={(a, b):| & - b?| < 16} is given by
(@){(1,1),(2,1), (3, 1), (4,1), (2, 3)}

(b){(2, 2), (3, 2), (4, 2), (2, 4)}

(c){(3,3). (4, 3), (5,4), (3, 4)}

(d) none of these
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ANSWER:

(d) none of these

R is given by {(1, 2), (2, 1), (2, 3), (3, 2), (3, 4), (4, 3), (4, 5), (5, 4), (1, 3), (3, 1), (1, 4),
4,1).,(2,4), (4, 2)}, which is not mentioned in (a), (b) or (c).

Page No 1.30:
Question 5:

Let R be the relation over the set of all straight lines in a plane such that IR, < [,L
l,. Then, Ris

(a) symmetric

(b) reflexive

(c) transitive

(d) an equivalence relation
ANSWER:

(a) symmetric

A = Set of all straight lines in the plane

R={(I1,12) : 1, 12€A : 11 LI12}Reflexivity: 11 is not L [1=(I1, [1)¢RSo, R is not reflexive
on A.Symmetry: Let (11, 12)€R=11 LI12=12 LI1=(12, I1)ERSo, R is symmetric on
A.Transitivity: Let (11, I2)€R, (12, 13)€R=I1L 12 and 12 L I3But I1 is not L 13=(I1,
I3)¢RSo, R is not transitive on A.R=I1, 12 : 11, I2€A : 11 LI12Reflexivity: I1 is not L 11=I1,
[1¢RSo, R is not reflexive on A.Symmetry: Let 11, 12€R=I1 LI12=12 L11=12, [1€RSo, R
is symmetric on A.Transitivity: Let 11, I2€R, 12, I3€R=I11L 12 and I12_L 13But I1 is not L
I3=11, I3¢RSo, R is not transitive on A.
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Question 6:

If A={a, b, c}, then the relation R={(b, c)}on A is

(a) reflexive only

(b) symmetric only

(c) transitive only

(d) reflexive and transitive only

ANSWER:

(c) transitive only

The relation R = {(b,c)} is neither reflexive nor symmetric because every element of A is
not related to itself. Also, the ordered pair of R obtained by interchanging its elements is
not contained in R.

We observe that R is transitive on A because there is only one pair.
Page No 1.30:
Question 7:

LetA=1{2,3,4,5, ..., 17, 18}. Let '=' be the equivalence relation on A x A, cartesian
product of A with itself, defined by (a, b) = (c, d) if ad = bc. Then, the number of ordered
pairs of the equivalence class of (3, 2) is

(@)4
(b) 5

(c)6
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(d)7
ANSWER:

(c)6

The ordered pairs of the equivalence class of (3, 2) are {(3, 2), (6, 4), (9, 6), (12, 8), (15,
10), (18, 12)}.

We observe that these are 6 pairs.

RD Sharma 12th Maths Chapter 1, Class 12 Maths Chapter 1 solutions
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Question 8:

Let A={1, 2, 3}. Then, the number of relations containing (1, 2) and (1, 3) which are
reflexive and symmetric but not transitive is

(a) 1
(b) 2
(c)3
(d) 4
ANSWER:

(a) 1

The required relation is R.

R={1,2),(1,3),(1,1),(2,2), (3, 3), (2, 1), 3, 1)}

Hence, there is only 1 such relation that is reflexive and symmetric, but not transitive.
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Question 9:

The relation 'R'in N x N such that
(a,b)R(c,d)ye a+d=b+cis

(a) reflexive but not symmetric

(b) reflexive and transitive but not symmetric
(c) an equivalence relation

(d) none of the these

ANSWER:

(c) an equivalence relation

We observe the following properties of relation R.

Reflexivity: Let (a, b)€NxN=a, bEN=a+b=b+a=(a, b)ER So, R is reflexive on
NxN.Symmetry: Let (a, b), (c, d)€NxN such that (a, b) R (c,
d)=a+d=b+c=d+a=c+b=(d, c), (b, a)€ER So, R is symmetric on NxN.Transitivity: Let
(a, b), (c, d), (e, )€NxN such that (a, b) R (c, d) and (c, d) R (e, f)=a+d=b+c and
ctf=d+e=a+d+c+f=b+c+d+e=>a+f=b+e=(a, b) R (e, f)So, R is transitive on
NxN.Reflexivity: Let (a, b)ENxN=a, bEN=a+b=b+a=a, bER So, R is reflexive on
NxN.Symmetry: Let a, b, ¢, dENxN such that a, b R ¢, d=a+d=b+c=d+a=c+b=d, c, b,
a€R So, Ris symmetric on NxN.Transitivity: Let a, b, ¢, d, e, f€NxN such that a, b R
c,dandc, d R e, f=a+d=b+c and c+f=d+e=a+d+c+f=b+c+d+e=a+f=b+e=a, b R e,
fSo, R is transitive on NxN.

Hence, R is an equivalence relation on N.

Page No 1.30:

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g ‘AR 1A Gl Wi


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

e‘lllu\—dl cCi

Question 10:

IfA={1,2,3}, B={1,4,6,9}and Ris a relation from A to B defined by 'x is greater
than y'. The range of R is

(a) {1, 4, 6, 9}
(b) {4, 6, 9}

(c) {1}

(d) none of these

ANSWER:

(c) {1}

Here,

R={(x, y) : x€Aand yEeB : x > y}=R={(2, 1), (3, 1)}R=X, y:x€Aand yeB : x >
y=>R=2,1, 3, 1

Thus,

Range of R = {1}
Page No 1.30:
Question 11:

Arelation R is defined from {2, 3, 4, 5} t0 {3, 6, 7, 10} by : x R y & x is relatively prime
to y. Then, domain of Ris

(a) {2, 3, 5}
(b) {3, 5}

(c) {2,3, 4}
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(d) {2, 3, 4, 5}
ANSWER:

(d){2, 3, 4, 5}

The relation R is defined as

R={(x,y):x€{2, 3, 4, 5}, yE{3, 6, 7, 10} : x is relatively prime to y}=R={(2, 3), (2,
7),(3,7),(3,10),(4,7),(5,3), (5,7} R=x,y:x€2,3,4,5,y€3,6,7,10:xis
relatively prime toy=R=2,3,2,7,3,7,3,10,4,7,5,3,5,7

Hence, the domain of R includes all the values of x, i.e. {2, 3, 4, 5}.

Page No 1.30:

Question 12:

A relation ¢ from C to R is defined by x ¢ y < | x| = y. Which one is correct?
@@2+3)¢p13

(b) 3 ¢ (-3)

©(1+)¢2

d)i¢p1

ANSWER:

(d) i¢1

o |2+3i=13-—V#13  [3|#-3  [1+i|=2—V#2and | i |=1S0, (i, 1)€¢"." 2+3i=13#13
3#2-3 1+i=2#2and i=1So, i, 1€¢
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Question 13:

Let R be a relation on N defined by x + 2y = 8. The domain of R is
(a) {2, 4, 8}

(b) {2, 4, 6, 8}

(c){2, 4,6}

(d){1, 2, 3, 4}

ANSWER:

(c) {2,4.,6}

The relation R is defined as

R={(x,y) : x, yEN and x+2y = 8}=R={(x, y) : X, yYEN and y = (8-x)2} R=x,y:X,
yEN and x+2y = 8=R=x,y: x,yEN and y = 8-x2

Domain of R is all values of x€ €N satisfying the relation R. Also, there are only three
values of x that result in y, which is a natural number. These are {2, 6, 4}.

Page No 1.30:

Question 14:

R is a relation from {11, 12, 13} to {8, 10, 12} defined by y = x = 3. Then, R"is
(a){(8, 11), (10, 13)}

(b) {(11, 8), (13, 10)}

(c){(10, 13), (8, 11)}

(d) none of these

ANSWER:
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(a){(8, 11), (10, 13)}

The relation R is defined by

R={(x, y) : x€{11, 12, 13}, yE{8, 10, 12} : y = x-3}=>R={(11, 8), (13, 10)}So,
R-1={(8, 11), (10, 13)} R=x,y:x€11, 12, 13, y€8, 10, 12 : y = x-3=R=11, 8, (13,
10)So, R-1=8, 11, 10, 13

Page No 1.30:

Question 15:

Let R={(a, a), (b, b), (c, ¢), (a, b)} be arelationon set A=a, b, c. Then, Ris
(a) identify relation

(b) reflexive

(c) symmetric

(d) antisymmetric

ANSWER:

(b) reflexive

Reflexivity: Since (a, a)€RYV a€A, R is reflexive on A.Symmetry: Since (a, b)ER but
(b, @)¢R, R is not symmetric on A.=R is not antisymmetric on A.Also, R is not an
identity relation on A.Reflexivity: Since a, aERYV a€A, R is reflexive on A.Symmetry:
Since a, bER but b, a¢R, R is not symmetric on A.=R is not antisymmetric on A.Also,
R is not an identity relation on A.

Page No 1.30:
Question 16:
Let A={1, 2, 3}and B={(1, 2), (2, 3), (1, 3)} be a relation on A. Then, R is

(a) neither reflexive nor transitive
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(b) neither symmetric nor transitive
(c) transitive

(d) none of these

ANSWER:

(c) transitive

Reflexivity: Since (1, 1)¢B, B is not reflexive on A.Symmetry: Since (1, 2)€B but (2,
1)¢B, B is not symmetric on A.Transitivity: Since (1, 2)€B, (2, 3)€B and (1, 3)€B, B is
transitive on A.Reflexivity: Since (1, 1)4B, B is not reflexive on A.Symmetry: Since 1,
2€B but 2, 1¢B, B is not symmetric on A. Transitivity: Since 1, 2€B, 2, 3€B and 1,

3 E€B, B is transitive on A.

Page No 1.30:

Question 17:

If R is the largest equivalence relation on a set A and S is any relation on A, then
@ RCS

(b)SCR

(c)R=S

(d) none of these

ANSWER:

(b)SC R

Since R is the largest equivalence relation on set A,

REAXARCS AXA
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Since S is any relation on A,

SCAxXxASCAXxA

So,SCR
Page No 1.30:
Question 18:

If Ris arelationonthesetA={1,2,3,4,5,6,7,8,9}givenby xRy < y=3x,thenR

(@){(3, 1), (6, 2), (8, 2), (9, 3)}
(b) {(3, 1), (6, 2), (9, 3)}
(€){(3,1).(2,6), (3, 9)}

(d) none of these

ANSWER:

(d) none of these

The relation R is defined as

R={(x,y):x,yEA:y=3x}>R={(1,3),(2,6),(3,9)} R=x,y:x,yEA:y=
3x>»R=1,3,2,6, 3,9

Page No 1.31:

Question 19:

If R is a relation on the set A = {1, 2, 3} given by R={(1, 1), (2, 2), (3, 3)}, then Ris
(a) reflexive

(b) symmetric
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(c) transitive
(d) all the three options
ANSWER:

(d) all the three options

R={(a, b) : a=b and a, b€ A}Reflexivity: Let a€A. Then,a=a=(a, a)ER for alla€ASo, R
is reflexive on A.Symmetry: Let a, b€A such that (a, b)€R. Then,(a,
b)eR=a=b=b=a=(b, a)ER for all a€ASo, R is symmetric on A.Transitivity: Let a, b,
c€Asuch that (a, b)€R and (b, c)€R. Then,(a, b)€R=a=band (b,
c)ER=b=c=a=c=(a, c)ER for all a€ASo, R is transitive on A.R=a, b : a=b and a,

b € AReflexivity: Let a€A. Then,a=a=a, a€R for all a€ASo, R is reflexive on
A.Symmetry: Let a, b€ A such that a, bER. Then,a, bER=a=b=b=a=b, a€R for all
a€ASo, R is symmetric on A.Transitivity: Let a, b, cEA such that a, bER and b, ceR.
Then,a, bER=a=band b, cER=b=c=a=c=a, cER for all a€ASo, R is transitive on
A.

Hence, R is an equivalence relation on A.

Page No 1.31:

Question 20:

If A={a, b, c, d}, then arelation R = {(a, b), (b, a), (a, a)} on A is
(a) symmetric and transitive only

(b) reflexive and transitive only

(c) symmetric only

(d) transitive only

ANSWER:

(a) symmetric and transitive only
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Reflexivity: Since (b, b)¢R, R is not reflexive on A.Symmetry: Since (a, b)€R and (b,
a)ER, R is symmetric on A.Transitivity: Since (a, b)ER, (b, a)€R and (a, a)ER, R is
transitive on A.Reflexivity: Since b, b¢R, R is not reflexive on A.Symmetry: Since a,
beR and b, aER, R is symmetric on A.Transitivity: Since a, bER, b, aER and a,
a€R, Ris transitive on A.

Page No 1.31:

Question 21:

IfA={1,2, 3}, then arelation R={(2,3)}onAis
(a) symmetric and transitive only

(b) symmetric only

(c) transitive only

(d) none of these

ANSWER:

(c) transitive only

The relation R is not reflexive because every element of A is not related to itself. Also, R
is not symmetric since on interchanging the elements, the ordered pair in R is not
contained in it.

R is transitive by default because there is only one element in it.
Page No 1.31:

Question 22:

Let R be the relation on the set A = {1, 2, 3, 4} given by

R={(1,2), (2, 2), (1, 1), (4, 4), (1, 3), (3, 3), (3, 2)}. Then,
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(a) R is reflexive and symmetric but not transitive
(b) R is reflexive and transitive but not symmetric
(c) R is symmetric and transitive but not reflexive
(d) R is an equivalence relation

ANSWER:

(b) R is reflexive and transitive but not symmetric.

Reflexivity: Clearly, (a, a)€R V a€ASo, R is reflexive on A.Symmetry: Since (1, 2)ER,
but (2, 1)¢R,R is not symmetric on A.Transitivity: Since, (1, 3), (3, 2)€R and (1, 2)€R,R
is transitive on A.Reflexivity: Clearly, (a, a)€R V a€ASo, R is reflexive on
A.Symmetry: Since 1, 2€R, but 2, 1¢R,R is not symmetric on A.Transitivity: Since, 1, 3,
3,2€R and 1, 2eR,R is transitive on A.

Page No 1.31:

Question 23:

Let A={1, 2, 3}. Then, the number of equivalence relations containing (1, 2) is
(a) 1

(b) 2

(c)3

(d) 4

ANSWER:

(b) 2

There are 2 equivalence relations containing {1, 2}.

R={(1,2)}
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S={(1,1),(2,2),(8,3).(1,2),(2,1),(2,3), (3, 2), (1, 3), 3, 1)}
Page No 1.31:

Question 24:

The relation R={(1, 1), (2, 2), (3, 3)} on the set {1, 2, 3} is

(a) symmetric only

(b) reflexive only

(c) an equivalence relation

(d) transitive only

ANSWER:

(c) an equivalence relation

R={(a, b) : a=b and a, b€ A}Reflexivity: Let aEA Here,a=a=(a, a)ER for all a€ASo, R
is reflexive on A.Symmetry: Let a, b€ A such that (a, b)€R. Then,(a,
b)eR=a=b=b=a=(b, a)ER for all a€ASo, R is symmetric on A.Transitive: Let a, b,
c€Asuch that (a, b)€R and (b, c)€R. Then, (a, b)€R=a=band (b,
c)ER=b=c=a=c=(a, c)ER for all a€ASo, R is transitive on A.R=a, b : a=b and a,

b € AReflexivity: Let aEA Here,a=a=>a, a€R for all a€ASo, R is reflexive on
A.Symmetry: Let a, b€A such that a, bER. Then,a, bER=a=b=b=a=b, a€R for all
a€ASo, R is symmetric on A.Transitive: Let a, b, cEA such that a, bER and b, ceER.
Then, a, bER=a=band b, cER=b=c=a=c=>a, cER for all a€ASo, R is transitive on
A.

Hence, R is an equivalence relation on A.
Page No 1.31:
Question 25:

S is a relation over the set R of all real numbers and it is given by
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(a,b) € S ab=0.Then, Sis
(a) symmetric and transitive only
(b) reflexive and symmetric only
(c) antisymmetric relation

(d) an equivalence relation
ANSWER:

(d) an equivalence relation

Reflexivity: Let a€ €R

Then,

aa=a2>0=(a, a)€R V a€Raa=a2>0=a,a€R V a€R

So, S is reflexive on R.

Symmetry: Let (a, b)EES

Then,

(a, b)eS=ab=0 =ba=0 =(b, a)€SV a, bERa, beES=ab=0 =ba=0 =b, aEeSV a,
beR

So, S is symmetric on R.

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

el 11IUN\..adl CCI


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

@‘II IV\dl ©CIH

Transitivity:

If (a, b), (b, c)€S=ab=0 and bcz0=abxbc=0=ac=0 ["." b2 2 0]=(a,
c)eSforall a, b, cEset RIf a, b, b, cES=ab=0 and bcz0=abxbc=0=ac=0
" b2=0=a,ceSforalla, b, ceEsetR

Hence, S is an equivalence relation on R.
Page No 1.31:
Question 26:

In the set Z of all integers, which of the following relation R is not an equivalence
relation?

@ xRy:ifx<sy
(b)xRy:ifx=y

(c)x Ry :if x— yis an even integer
(d)xRy:ifx=y(mod 3)
ANSWER:

@)xRy:ifxsy

Clearly, R is not symmetric because x < y does not imply y < x.

Hence, (a) is not an equivalence relation.

Page No 1.31:
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Question 27:

Mark the correct alternative in the following question:

Let A={1, 2, 3} and consider the relation R = {(1, 1), (2, 2), (3, 3), (1, 2), (2, 3), (1, 3)}.
Then, Ris

(a) reflexive but not symmetric (b) reflexive but
not transitive

(c) symmetric and transitive (d) neither
symmetric nor transitive

ANSWER:

We have,

R={(1.1),(2,2),(3,3).(1,2), (2 3), (1, 3)}

As, (a,a)€ER Va&€ASo, R is reflexive relationAlso, (1,2)€R but (2,1)¢RSo, R is not
symmetric relationAnd, (1,2)€R,(2,3)€R and (1,3)€RSo, R is transitive relationAs,
a,a€R Va€EASo, R is reflexive relationAlso, 1,2€R but 2,1¢RSo, R is not symmetric
relationAnd, 1,2€R,2,3€R and 1,3€RSo, R is transitive relation

Hence, the correct alternative is option (a).
Page No 1.31:
Question 28:

Mark the correct alternative in the following question:
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The relation S defined on the set R of all real number by the rule aSb iff a== b is

(a) an equivalence relation

(b) reflexive, transitive but not symmetric

(c) symmetric, transitive but not reflexive

(d) neither transitive nor reflexive but symmetric
ANSWER:

We have,

S={(@a,b):a=z2b;a, b €€ R}

As, a=a Va€R=(a,a)ESSo, S is reflexive relationLet (a,b) € S=a=bBut
b<a=(b,a)¢SSo, S is not symmetric relationLet (a,b)€S and (b,c)€S=a=b and
b=c=a=c=(a,c)ESSo, S is transitive relationAs, a=a YaEeR=a,a€SSo, S is reflexive
relationLet a,b €S=a=bBut b<a=b,a¢SSo, S is not symmetric relationLet a,b €S and
b,ceS=a=b and b2c=a=c=a,cESSo, S is transitive relation

Hence, the correct alternative is option (b).
Page No 1.31:
Question 29:

Mark the correct alternative in the following question:

The maximum number of equivalence relations on the set A = {1, 2, 3} is

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

e ‘11N il


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g'll 1%l w/GAl S i

(a) 1 (b) 2 (c)3 (d)5
ANSWER:

Consider the relation R1={(1,1)}It is clearly reflexive, symmetric and transitiveSimilarly,
R2={(2,2)} and R3={(3,3)} are reflexive, symmetric and transitiveAlso,
R4={(1,1),(2,2),(3,3),(1,2),(2,1)}t is reflexive as (a,a)ER4 for allaE{1,2,3}It is
symmetric as (a,b)ER4=(b,a)ER4 for all a€{1,2,3}Also, it is transitive as
(1,2)€R4,(2,1)€R4=(1,1)€RA4The relation defined by
R5={(1,1),(2,2),(3,3),(1,2),(1,3),(2,1),(2,3),(3,1),(3,2)} is reflexive, symmetric and
transitive as well. Thus, the maximum number of equivalence relation on set A={1,2,3} is
5.Consider the relation R1=1,1lt is clearly reflexive, symmetric and transitiveSimilarly,
R2=2,2 and R3=3,3 are reflexive, symmetric and transitiveAlso, R4=1,1,2,2,3,3,1,2,2,1It
is reflexive as a,a€R4 for all a€1,2,3It is symmetric as a,b €ER4=b,aER4 for all
a€1,2,3Also, it is transitive as 1,2€R4,2,1€R4=(1,1)€R4The relation defined by
R5=1,1,2,2,3,3,1,2,1,3,2,1,2,3,3,1,3,2 is reflexive, symmetric and transitive as
well.Thus, the maximum number of equivalence relation on set A={1,2,3} is 5.

Hence, the correct alternative is option (d).
Page No 1.31:
Question 30:

Mark the correct alternative in the following question:

Let R be a relation on the set N of natural numbers defined by nRm iff n divides m.
Then, Ris

(a) Reflexive and symmetric (b) Transitive and
symmetric

(c) Equivalence (d) Reflexive, transitive
but not symmetric [NCERT EXEMPLAR]
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ANSWER:

We have,

R ={(m, n): ndivides m; m,n € € N}

As, m divides m=(m,m)ER Vm&NSo, R is reflexiveSince, (2,1)€R i.e. 1 divides 2but
2 cannot divide 1 i.e. (2,1)¢RSo, R is not symmetricLet (m,n)€R and (n,p)€R. Then,n
divides m and p divides n=p divides m=(m,p)€RSo, R is transitiveAs, m divides
m=>mm&ER YME&ENSo, R is reflexiveSince, 2,1€R i.e. 1 divides 2but 2 cannot divide 1
i.e. 2,1¢RSo0, R is not symmetricLet m,nER and n,pER. Then,n divides m and p divides
n=p divides m=m,pERSo, R is transitive

Hence, the correct alternative is option (d).
Page No 1.31:
Question 31:

Mark the correct alternative in the following question:

Let L denote the set of all straight lines in a plane. Let a relation R be defined by IRm iff /
is perpendicularto mforall, m €€ L. Then, Ris

(a) reflexive (b) symmetric (c) transitive
(d) none of these

[NCERT EXEMPLAR]

ANSWER:
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We have,R={(l,m):l is perpendicular to m; ,m&L}As, | is not perpencular to I=(1,1)¢RSo,
R is not reflexive relationLet (I,m)ER=| is perpendicular to m=m is also perpendicular
to I=(m,l)€RSo, R is symmetric relationLet (,m)ER and (m,n)ER=1is perpendicular
to m and m is perpendicular to n=1is parallel to n (Lines perpendicular to
same line are parallel)=(m,l)¢RSo, R is not transitive relationWe have,R=I,m:l is
perpendicular to m; ,m&€LAs, | is not perpencular to I=1,1¢RSo, R is not reflexive
relationLet ,mER=Iis perpendicular to m=m is also perpendicular to I=m,|ERSo, R
is symmetric relationLet ,m&€R and m,nER=Iis perpendicular to m and m is
perpendicular to n=I is parallel to n Lines perpendicular to same line are
parallel=m,l¥RSo, R is not transitive relation

Hence, the correct alternative is option (b).
Page No 1.32:
Question 32:

Mark the correct alternative in the following question:

Let T be the set of all triangles in the Euclidean plane, and let a relation Ron T be
defined as aRb if ais congruentto bforalla, b €€ T. Then, Ris

a) reflexive but not symmetric (b)
transitive but not symmetric

c) equivalence (d) none
of these

ANSWER:

We have,R={(a,b):a is congruent to b; a,b €T}As, aza=(a,a)ERSo, R is reflexive
relationLet (a,b)ER. Then,azb=b=a=>(b,a) €ERSo, R is symmetric relationLet (a,b)ER
and (b,c)€R. Then,a=b and b=c=a=c=(a,c)€RSo, R is transitive relation.”. R is an
equivalence relationWe have,R=a,b:a is congruent to b; a,p€TAs, aza=a,a€RSo, R is
reflexive relationLet a,p €R. Then,azb=b=a=b,a€RSo, R is symmetric relationLet
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a,beR and b,ceR. Then,azb and bzc=azc=a,cERSo, R is transitive relation.”. R is
an equivalence relation

Hence, the correct alternative is option (c).
Page No 1.32:
Question 33:

Mark the correct alternative in the following question:

Consider a non-empty set consisting of children in a family and a relation R defined as
aRb if a is brother of b. Then, R is

(a) symmetric but not transitive (b)
transitive but not symmetric

(c) neither symmetric nor transitive (d) both
symmetric and transitive

ANSWER:

We have,R={(a,b):a is brother of b}Let (a,b)ER. Then,a is brother of bbut b is not
necessary brother of a (As, b can be sister of a)=(b,a)¢RSo, R is not
symmetricAlso,Let (a,b)ER and (b,c)€R=a is brother of b and b is brother of c=a is
brother of c=(a,c)€RSo, R is transitiveWe have,R=a,b:a is brother of bLet a,b ER.
Then,a is brother of bbut b is not necessary brother of a As, b can be sister of
a=b,a¢RSo, R is not symmetricAlso,Let a,pER and b,cER=>a is brother of b and b is
brother of c=a is brother of c=a,c€RSo, R is transitive

Hence, the correct alternative is option (b).

Page No 1.32:
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Question 34:

Mark the correct alternative in the following question:

For real numbers x and y, define xRy iff x-y+2—x-y+2 is an irrational number. Then the
relation R is

(a) reflexive (b) symmetric (c) transitive
(d) none of these

ANSWER:

We have,R={(x,y):x-y+2— is an irrational number; x,y €R}As, x—x+2—=2—, which is
an irrational number=>(x,x) €RSo, R is reflexive relationSince, (2-V,2)ERi.e.
2—-2+2—~=22—-2, which is an irrational numberbut 2-2—+2—/=2, which is a rational
number=>(2,2—)¢RSo, R is not symmetric relationAlso, (2—V,2)ER and (2,22—V)ERi.e.
2—~-2+2—\=22—-2, which is an irrational number and 2-22—+2—=2-2—, which is
also an irrational numberBut 2—J-22—+2—+=0, which is a rational
number=(2—,22—)¢éRSo, R is not transitive relationWe have,R=x,y:x-y+2 is an
irrational number; x,y €RAs, x-x+2=2, which is an irrational number=x,x€RSo, R is
reflexive relationSince, 2,2 € Ri.e. 2-2+2=22-2, which is an irrational numberbut
2-2+2=2, which is a rational number=2,2¢RSo, R is not symmetric relationAlso, 2,2€R
and 2,22 €Ri.e. 2-2+2=22-2, which is an irrational number and 2-22+2=2-2, which is
also an irrational numberBut 2-22+2=0, which is a rational number=2,22¢RSo, R is not
transitive relation

Hence, the correct alternative is option (a).

Page No 1.32:

Question 35:

If a relation R on the set (1, 2, 3) be defined by R = {(1, 2)}, then R is

(a) reflexive (b) transitive (c) symmetric (d) none of these

https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

g’ll ISl il S i


https://www.indcareer.com/schools/rd-sharma-solutions-for-class-12-maths-chapter-1-relation/

e‘ll IVN\dl ©CI

ANSWER:

Given: Arelation R on the set {1, 2, 3} be defined by R = {(1, 2)}.

R={(1,2)}

Since, (1,1) ¢ R

Therefore, It is not reflexive.

Since, (1,2) € Rbut (2, 1) ¢ R

Therefore, It is not symmetric.

But there is no counter example to disapprove transitive condition.

Therefore, it is transitive.

Hence, the correct option is (b).
Page No 1.32:
Question 1:

If R ={(x, y):x2+y2<4, x, yEZ}X, y:x2+y2<4, x, yEZ is a relation in Z, then the domain of
Ris

ANSWER:

Given: R ={(x, y):x2+y2<4, x, yEZ}X, y:x2+y2<4, X, yEZ
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R={(-2,0),(2,0),(0,2),(0,-2), (=1,1), (=1, 1), (1, -1), (1, 1), (0, 1), (1, 0), (-1, 0),
(0,-1), (0, 0)}

Therefore, Domain of R = {-2, -1, 0, 1, 2}

Hence, if R = {(X, y):x2+y2<4, x, yEZ}X, y:X2+y2<4, x, yEZ is a relation in Z, then the
domain of Ris {-2, -1, 0, 1, 2}.

Page No 1.32:
Question 2:

Let R be a relation in N defined by R ={(x, y): x + 2y = 8}, then the range of R is

ANSWER:

Given: R={(x, y): x+2y=8}wherex,y € N

R={®,1).(4,2), (2, 3)}

Therefore, Range of R = {1, 2, 3}

Hence, the range of Ris {1, 2, 3}.

Page No 1.32:

Question 3:

The number of relations on a finite set having 5 elements is

ANSWER:
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Let R be a relation on A, where A contains 5 elements.

R is a subset of A x A.

Number of elementsin Ax A=5x5=25

Number of relations = Number of subsets of A x A = 2%°

Hence, the number of relations on a finite set having 5 elements is 2%°.

Page No 1.32:
Question 4:

Let A={1, 2, 3, 4} and R be the relation on A defined by {(a, b): a,b € A, axbis an
even number}, then the range of R is

ANSWER:

Given: R={(a, b): a,b € A, a x bis an even number}, where A = {1, 2, 3, 4}.

R={(1.2),(1,4),(2,1).(2,2),(2,3), (2, 4), (3, 2), (3, 4). (4, 1), (4, 2), (4, 3), (4, 4)}

Therefore, Range of R = {1, 2, 3, 4}

Hence, the range of Ris {1, 2, 3, 4}.
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Page No 1.32:
Question 5:

Let A={1, 2, 3, 4, 5} The domain of the relation on A defined by R ={(x,y): y =
2x-1},is

ANSWER:

Given: R={(x, y):y=2x -1}, where A={1,2,3,4,5}and x, y € A.

R={(1,1),(2,3), 3, 5}

Therefore, Domain of R = {1, 2, 3}.

Hence, the domain of the relation on A defined by R ={(x, y): y =2x - 1},is {1, 2, 3}.
Page No 1.32:
Question 6:

If R s a relation defined on set A ={1, 2, 3} by the rule (a,b)
eR& | |a2-b2]| |<5,eR®a2-b2<5, then R'=

ANSWER:

Given: R ={(a, b): | |a2-b2| |<5a2-b2<5}, where A={1,2,3}and a, b € A.

R={(1,1),(1,2),(2,1),(2,2),(2,3), (3, 2), (3, 3)}

Therefore, R™'= {(1, 1), (2, 1), (1, 2), (2, 2), (3, 2), (2, 3), (3, 3} = R
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Hence, if R is a relation defined on set A = {1, 2, 3} by the rule (a,b)
eR® | |a2-b2||<5,eR®a2-b2s5,then R'=R

Page No 1.32:
Question 7:

If R is a relation from A = {11, 12, 13} to B = {8, 10 12} defined by y = x-3, then R

ANSWER:

Given: R={(x,y):y=x-3,x € Aand y € B}, where A={11, 12, 13} and B={8, 10
12}.

R ={(11, 8), (13, 10}

Therefore, R~ = {(8, 11), (10, 13)}

Hence, R"'={(8, 11), (10, 13)}.

Page No 1.32:

Question 8:

The smallest equivalence relation on the set A ={a, b, c, d} is

ANSWER:

Given: A={a, b, c, d}

Identity relation is the smallest equivalence relation.
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Therefore, R={(a, a), (b, b), (c, ¢)} is the smallest equivalence relation.

Hence, the smallest equivalence relation on the set A = {a, b, c, d} is {(a, a), (b, b), (c,

c)}.
Page No 1.32:

Question 9:

The largest equivalence relation on the set A = {1, 2, 3} is

ANSWER:

Given: A={1, 2, 3}

The largest equivalence relation contains all the possible ordered pairs.

Therefore, R={(1, 1), (2, 2), (3, 3), (1, 2), (2, 1), (2, 3), (3, 2), (1, 3), (3, 1)} is the largest
equivalence relation.

Hence, the largest equivalence relation on the set A = {1, 2, 3}is {(1, 1), (2, 2), (3, 3), (1,
2), (2, 1), (2, 3), (3,2), (1, 3), (3, 1)}

Page No 1.32:
Question 10:

Let R be the equivalence relation on the set Z of integers given by R = {(a, b): 3 divides
a-b}. Then the equivalence class [0] is equal to

ANSWER:

Given: R is the equivalence relation on the set Z of integers given by R = {(a, b): 3
divides a — b}.
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To find the equivalence class [0], we put b = 0 in the given relation and find all the
possible values of a.

Thus,

R ={(a, 0): 3 divides a - 0}
= a - 0 is a multiple of 3
= ais a multiple of 3

= a=3n,wheren€ Z

= a=0,+3, 6, 19, ....

Therefore, equivalence class [0] = {0, £3, 6, 9, ....}

Hence, the equivalence class [0] is equal to {0, £3, 6, 9, ....}.
Page No 1.32:
Question 11:

Let R be a relation on the set Z of all integers defined as (x, y) € R & x-y is divisible by
2. Then, the equivalence class [1] is

ANSWER:

Given: R is the equivalence relation on the set Z of integers defined as (x, y) € R & x -
y is divisible by 2.

To find the equivalence class [1], we put y = 1 in the given relation and find all the
possible values of x.
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Thus,
R ={(x, 1): x — 1 is divisible by 2}
= x — 1 is divisible by 2

= x =11, £3, 16, 9, ...

Therefore, equivalence class [0] = {1, £3, 16, 19, ....}

Hence, the equivalence class [1] is {1, £3, £6, 9, ....}.
Page No 1.32:
Question 12:

The relation R={(1, 2,), (1, 3)} onset A=[1, 2, 3] is only.

ANSWER:

Given: Arelation R on the set {1, 2, 3} be defined by R=R ={(1, 2,), (1, 3)}.

R={(1.2,), (1, 3)}

Since, (1, 1) ¢ R

Therefore, It is not reflexive.

Since, (1,2) € Rbut (2, 1) ¢ R

Therefore, It is not symmetric.
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But there is no counter example to disapprove transitive condition.

Therefore, it is transitive.

Hence, The relation R ={(1, 2,), (1, 3)} on set A = {1, 2, 3} is transitive only.
Page No 1.33:

Question 1:

Write the domain of the relation R defined on the set Z of integers as follows:
(a,b) e R® a®+b*=25

ANSWER:

Domain of R is the set of values satisfying the relation R.

As a should be an integer, we get the given values of a:

0, £3, 4, £5Thus,Domain of R={0, +3, 4, £5}0, +3, +4, £5Thus,Domain of R=0, +3, +4,
15

Page No 1.33:

Question 2:

IfR={(x,y): x2+y*<4; x, y € Z}is arelation on Z, write the domain of R.
ANSWER:

Domain of R is the set of values of x satisfying the relation R.

As x must be an integer, we get the given values of x:
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0, £1, £2Thus, Domain of R={0, +1, +2}0, 1, +2Thus, Domain of R=0, 1, £2
Page No 1.33:

Question 3:

Write the identity relation on set A = {a, b, c}.

ANSWER:

Identity set of A is

I'={(a, a), (b, b), (c, c)}

Every element of this relation is related to itself.

Page No 1.33:

Question 4:

Write the smallest reflexive relation on set A = {1, 2, 3, 4}.
ANSWER:

Here,

A={1,23, 4}

Also, a relation is reflexive iff every element of the set is related to itself.

So, the smallest reflexive relation on the set A is
R={(1,1),(2,2), (3, 3), (4, 4)}

Page No 1.33:

Question 5:

If R={(x, y): x + 2y = 8} is a relation on N by, then write the range of R.
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ANSWER:
R={(x,y):x+2y=8,x yceN)
Then, the values of y can be 1, 2, 3 only.

Also, y = 4 cannot result in x = 0 because x is a natural number.

Therefore, range of Ris {1, 2, 3}.

Page No 1.33:

Question 6:

If R is a symmetric relation on a set A, then write a relation between R and R™".
ANSWER:

Here, R is symmetric on the set A.

Let (a, b)eR=(b, a)ER [Since R is symmetric]=>(a, b)€R-1 [By definition of
inverse relation]|>RCR-1Let (x, y)ER-1=(y, X)ER [By definition of inverse
relation]=(x, y)€R [Since R is symmetric]= R-1CRThus, R=R-1Let a,
beR=b, aeR Since R is symmetric=a, bER-1 By definition of inverse
relation=RCR-1Let x, yER-1=y, XER By definition of inverse relation=x, yER
Since R is symmetric= R-1CRThus, R=R-1

Page No 1.33:
Question 7:

Let R={(x, y) : |x* = y?| <1) be a relation on set A = {1, 2, 3, 4, 5}. Write R as a set of
ordered pairs.

ANSWER:

R is the set of ordered pairs satisfying the above relation. Also, no two different
elements can satisfy the relation; only the same elements can satisfy the given relation.
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So,R={(1,1), (2, 2), (3, 3), (4, 4), (5, 5)}
Page No 1.33:
Question 8:

IfA={2,3,4,B={1,3,7and R={(x,y): x € A,y € Band x < y} is a relation from A
to B, then write R™".

ANSWER:
SinceR={(x,y): x€€ A y EE Aand x <y},

R={(2.3),(2,7),(3,7), (4 7)}

So, R'={(3, 2), (7, 2), (7, 3), (7, 4)}
Page No 1.33:
Question 9:

Let A={3, 5,7}, B={2, 6, 10} and R be a relation from A to B defined by R = {(x, y) : x
and y are relatively prime}. Then, write R and R™".

ANSWER:
R ={(x, y) : xand y are relatively prime}

Then,

R={(3, 2), (5, 2), (7, 2), (3, 10), (7, 10), (5, 6), (7, 6)}

So, R"={(2, 3), (2, 5), (2, 7), (10, 3), (10, 7), (6, 5), (6, 7)}
Page No 1.33:
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Question 10:
Define a reflexive relation.
ANSWER:

Arelation R on A is said to be reflexive iff every element of A is related to itself.

i.e. Ris reflexive <(a, a)ER for allaeA<a, aeR forallagA
Page No 1.33:

Question 11:

Define a symmetric relation.

ANSWER:

Arelation R on a set A is said to be symmetric iff

(a, b)eR=(b, a)EeR for all a, bEAi.e. aRb=bRa for all a, bEAa, beER=b, aER for all
a, beEAi.e. aRb=bRa forall a, bEA

Page No 1.33:

Question 12:

Define a transitive relation.
ANSWER:

A relation R on a set A is said to be transitive iff

(a, b)eR and (b, c)R=(a, c)ER for all a, b, cERi.e. aRb and bRc=aRc for all a,
b,ceER a,beERandb,ceER=a, cEeR forall a, b, cERi.e. aRb and bRc=aRc for all
a,b,ceR
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Page No 1.33:

Question 13:

Define an equivalence relation.

ANSWER:

Arelation R on set A is said to be an equivalence relation iff
(i) it is reflexive,

(ii) it is symmetric and

(iii) it is transitive.

Relation R on set A satisfying all the above three properties is an equivalence relation.
Page No 1.33:
Question 14:

IfA={3,5 7}and B ={2, 4, 9} and R is a relation given by "is less than", write R as a
set ordered pairs.

ANSWER:

Since, R={(x, y) : x, yEN and x<y},R ={(3, 4), (3, 9), (5, 9), (7,9)}Since, R=x, y : X,
yE€N and x<y,R ={(3, 4), (3, 9), (5, 9), (7,9)}

Page No 1.33:
Question 15:

A={1,2,3,4,5,6,7,8and if R={(x, y) : yis one half of x; x, y € A} is a relation on A,
then write R as a set of ordered pairs.

ANSWER:

Since R = {(x, y) : yis one half of x; x, y€ €A}
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So, R={(2,1), (4, 2), (6, 3), (8, 4)}
Page No 1.33:
Question 16:

LetA={2, 3,4, 5}and B={1, 3, 4}. If Ris the relation from A to B givenby a R b if "ais
a divisor of b". Write R as a set of ordered pairs.

ANSWER:

Since R={(a, b):a,beN:ais adivisor of b}Since R=a, b:a,beN: ais a divisor of
b

So,R= {(2, 4), (3: 3), (4’ 4)}
Page No 1.33:
Question 17:

State the reason for the relation R on the set {1, 2, 3} given by R ={(1, 2), (2, 1)} to be
transitive.

ANSWER:

Since (1, 2)ER, (2, 1)€R but (1, 1)¢R, R is not transitive on the set {1, 2, 3}.For R to be
in a transitive relation, we must have (1, 1)€R.Since 1, 2€R, 2, 1€R but 1, 1¢éR, R is
not transitive on the set 1, 2, 3.For R to be in a transitive relation, we must have 1,
1€eR.

Page No 1.33:
Question 18:

Let R ={(a, &%) : ais a prime number less than 5} be a relation. Find the range of R.
[CBSE 2014]

ANSWER:
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We have,
R ={(a, @) : ais a prime number less than 5}
Or,

R={(2, 8), (3, 27)}

So, the range of Riis {8, 27}.
Page No 1.33:
Question 19:

Let R be the equivalence relation on the set Z of the integers given by R = {(a, b) : 2
divides a —- b}. Write the equivalence class [0].

[NCERT EXEMPLAR]
ANSWER:
We have,

An equivalence relation, R = {(a, b) : 2 divides a —- b}

If b=0, then a—b=a—-0=aAs, 2 divides a—bAnd, the set of integers which are divided by 2
is {0,+2,+4,6,...}S0, the equivalence class [0]={0,12,+4,16,...}If b=0, then a-b=a-0=aAs,
2 divides a-bAnd, the set of integers which are divided by 2 is 0,+2,+4,16,...So, the
equivalence class [0]=0,£2,+4,+6,...

Page No 1.33:
Question 20:
For the set A = {1, 2, 3}, define a relation R on the set A as follows:

R={(1,1),(2,2), (3, 3), (1,3)}
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Write the ordered pairs to be added to R to make the smallest equivalence relation.
ANSWER:
We have,

R={(1,1),(2,2),(3,3), (1,3)}

As, (a,a) €€ R, forall valuesofa €€ A

So, R is a reflexive relation

R can be a symmetric and transitive relation only when element (3, 1) is added

Hence, the ordered pairs to be added to R to make the smallest equivalence relation is
(3, 1).

Page No 1.33:

Question 21:

Let A={0, 1, 2, 3} and R be a relation on A defined as
R={(0,0), (0, 1), (0,3), (1,0), (1, 1), (2, 2), (3, 0), (3, 3)}
Is R reflexive? symmetric? transitive?

ANSWER:

We have,

R={(0,0),(0,1),(0,3),(1,0), (1, 1), (2, 2), (3, 0), (3, 3)}

As, (a,a)ERVa&EASo, R is a reflexive relationAlso, (a,b)€R and (b,a)€RSo, Ris a
symmetric relation as wellAnd, (0,1)€R but (1,2)¢R and (2,3)¢RSo, R is not a transitive
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relationAs, a,a€RVa&EASo, R is a reflexive relationAlso, a,pER and b,aERSo, Ris a
symmetric relation as wellAnd, 0,1€R but 1,2¢R and 2,3¢RSo, R is not a transitive
relation

Page No 1.33:
Question 22:

Let the relation R be defined on the set A={1, 2, 3,4, 5} by R={(a, b) : |a*> —- b*| < 8}.
Write R as a set of ordered pairs.

ANSWER:

As, R={(a, b): |a® - b?| < 8}

So, R={(1,1),(1,2), (2, 1), (2, 2), (2. 3), (3, 2), (3, 3), (3, 4), (4, 3), (4, 4), (5, 5)}
Page No 1.34:

Question 23:

Let the relation R be defined on N by aRb iff 2a + 3b = 30. Then write R as a set of
ordered pairs.

ANSWER:

As,R={(a,b):2a+3b=30;a, b < N}

So, R={(3, 8), (6, 6), (9, 4), (12, 2)}

Page No 1.34:

Question 24:

Write the smallest equivalence relation on the set A = {1, 2, 3}.
ANSWER:

The smallest equivalence relation onthe set A={1,2,3}is R={(1, 1), (2, 2), (3, 3)}
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Chapterwise RD Sharma
Solutions for Class 12 Maths :

e Chapter 1—Relation

e Chapter 2—Functions

e Chapter 3—Binary Operations

e Chapter 4—Inverse Trigonometric Functions

e Chapter 5—Algebra of Matrices

e Chapter 6—Determinants

e Chapter 7—Adjoint and Inverse of a Matrix

e Chapter 8—Solution of Simultaneous Linear Equations
e Chapter 9—Continuity

e Chapter 10—Differentiability

e Chapter 11—Differentiation

e Chapter 12—Higher Order Derivatives

e Chapter 13—Derivatives as a Rate Measurer

e Chapter 14—Differentials, Errors and Approximations

e Chapter 15—Mean Value Theorems

e Chapter 16—Tangents and Normals

e Chapter 17-Increasing and Decreasing Functions

e Chapter 18—Maxima and Minima

e Chapter 19—Indefinite Integrals
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About RD Sharma

RD Sharma isn't the kind of author you'd bump into at lit fests. But his
bestselling books have helped many CBSE students lose their dread of
maths. Sunday Times profiles the tutor turned internet star

He dreams of algorithms that would give most people nightmares. And,
spends every waking hour thinking of ways to explain concepts like 'series
solution of linear differential equations'. Meet Dr Ravi Dutt Sharma —
mathematics teacher and author of 25 reference books — whose name
evokes as much awe as the subject he teaches. And though students have
used his thick tomes for the last 31 years to ace the dreaded maths exam,
it's only recently that a spoof video turned the tutor into a YouTube star.

R D Sharma had a good laugh but said he shared little with his on-screen
persona except for the love for maths. "I like to spend all my time thinking
and writing about maths problems. I find it relaxing," he says. When he is
not writing books explaining mathematical concepts for classes 6 to 12 and
engineering students, Sharma is busy dispensing his duty as vice-principal
and head of department of science and humanities at Delhi government's
Guru Nanak Dev Institute of Technology.
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